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1.1 5���� à�
ÃZ�

�:r�̧\� ���Ér \P� ����̧�̧_� ����oü< �â
>��̧|	�\� @/ÀÓ�� �í�<Ê÷&��H \P� ����̧ ë�H]j\� @/ô�Ç 1	�

"é¶ \P�5Åq x9� �:r�̧ ì�r�í >�íß�

1.2 ��£� ÛÖS ÊÁn� B�ß��

�â
>� �̧|	�[þt�̀¦ ú́�ÆÒ��H ���5Åq÷&��H �©�p�ì�r ~½Ó&ñ
d��_� K�ZO�

1.3 %K�V� à�
ÃZ�

�¦�̂ü< Ä»�̂\�"f_� ����̧\� _�ô�Ç \P����²ú��Ér Fourier ZO�gË:�̀¦ ���Ér��. ����̧\� _�ô�Ç 1	�"é¶ \P�

���²ú��Ér ��6£§õ� °ú �Ér d��Ü¼�Ð l�Õüt|̈c Ãº e����.

qx

A
= −k

dT

dx
(6.1)

#�l�"f qx��H x~½Ó�¾ÓÜ¼�Ð_� \P����²ú� 5Åq�̧(W, ¢̧��H J/s), A��H \P� ����̧ ~½Ó�¾Óõ� Ãºf����� éß����

&h�(m2), k��H B�|9�_� \P� ����̧�̧(W/m ·K )s��¦, x��H ��o�(m)s���. �¦�̂ü< Ó�o�̂ ��s�_� @/

ÀÓ \P����²ú��Ér ��6£§õ� °ú s� l�Õüt�)a��.

qx

A
= h(Tw − Tf ) (6.2)

#�l�"f h��H\P����²ú�>�Ãº(W/m2 ·K), Tw��H�¦�̂³ð���_��:r�̧(K)s��¦, Tf��HÄ»�̂_��:r�̧(K)

s���. �¦�̂/Ó�o�̂ �â
>�\�"f_� :�x�©�&h���� �â
>��̧|	��Ér ��6£§õ� °ú s� ÅÒ#Qt���H \P�5Åq_� ���5Åq$í
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ÕªaË> 6.1: ��×�æ #4��̀¦ :�xô�Ç \P����²ú�

s���.

qx

A

∣∣∣
S

= −k
dT

dx

∣∣∣∣
S

= h(Tw − Tf ) (6.3)

#�l�"f S��H �:r�̧�� Tw��� �¦�̂ ³ð����̀¦ �����·p��. "f�Ð ���Ér ¿º �¦�̂_� �â
>�\�"f��H ��6£§õ�

°ú s� �:r�̧_� ���5Åq x9�

T = T1|x=I = T2|x=I (6.4)

��6£§õ� °ú s� \P�5Åqs� ���5Åqs�#Q�� ô�Ç��.

qx

A

∣∣∣
S

= −k1
dT1

dx

∣∣∣∣
I

= −k2
dT2

dx

∣∣∣∣
I

(6.5)

#�l�"f I��H "f�Ð ���Ér ¿º �¦�̂_� �â
>�\�¦ �����·p��. ����̧\� _�ô�Ç &ñ
�©��©�I� \P����²ú�\� @/ô�Ç

\��-t� Ãºt�d���Ér ��6£§õ� °ú �Ér ���õ�\�¦ ï�r��.

dqx

dx
= q̇A (6.6)

#�l�"f q̇ ��H éß�0A ÂÒx�{©�_� \P�µ1ÏÒqt 5Åq�̧(W/m3)s���. ëß���� d�� (6.6)\�"f \P� µ1ÏÒqt �½Ós�

0s���� e��_�_� x\�"f_� \P����²ú� 5Åq�̧��H {9�&ñ

�>��)a��. Geankoplis [1]\� ÅÒ#Q��� ë�H]jü< q�

5pw
�>� �è��Áº, corkóøÍ, �BHß¼o�àÔ 8£xÜ¼�Ð s�ÀÒ#Q��� Í�t�©�z�́�̀¦ �¦�9
���. y�� 8£x_� ¿ºa���H

15.0mm, 100.0mm, 75.0mms���.y��8£x\�"f_�\P�����̧�̧��H 0.151, 0.0433, 0.762W/m ·Ks�
��. ÕªaË> 6.1�Ér �è��Áº, corkóøÍ, �BHß¼o�àÔ 8£x�̀¦ y��y�� A, B, C�Ð �����·p #4�_� >h|ÄÌ�̧\�¦ �Ð#�

ï�r��. y�� �â
>�\�"f_� �:r�̧��H ÕªaË>\� ÅÒ#Q4R e����.
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(a) ëß���� ?/#4�_� �:r�̧�� 255K ü@#4�_� �:r�̧�� 298K{9� M:, #4��̀¦ :�xô�Ç \P�5Åq�̀¦ >�íß�
���.

(b) Cork óøÍ_� ¿ºa�\�¦ 7£x��r�&�"f \P��<Hz�́�̀¦ 50% &ñ
�̧ ×�¦s���H ~½Óîß�s� ]jîß�÷&%3���. ̈½¹כ

÷&��H cork óøÍ_� 8úx ¿ºa���H \O��������?

(c) (a)\�"f_� corkóøÍ @/���\� Dh�Ðî�r F�«Ñ�� ��6 x|̈c �.���s	כ s� F�«Ñ_� \P� ����̧�̧��H k =

2.5× exp(−1225/T )�Ð ÅÒ#Q�����, #�l�"f T��H K. s� F�«Ñ\� @/
�#� (a)\�¦ ìøÍ4�¤
��¦,

#4� ?/ÂÒ\�"f_� �:r�̧ ì�r�í\�¦ �̧r�
���.

(d) ü@#4�_�Ãºf��#4�\�@/ô�Ç�����@/ÀÓ\P����²ú�>�Ãº��H h = 1.37
∣∣T5−T4

6

∣∣1/4
�ÐÅÒ#Q�����,#�

l�"f T[þt�Ér K. h\�¦ >�íß�
���HX< ]X�@/°ú̀�כ¦ ��6 x�<Ê\� ÅÒ_�
���. s��Qô�Ç &ñ
�Ðü< ?/#4�

_� �:r�̧�� 255K��� �¦ëß��̀	כ s�6 x
�#� (c)\�¦ ��r� Û�¦��. s� �â
Äº\� ü@#4�_� �:r�̧��H ÅÒ0A

�:r�̧ T5�� 298K{9� M: >�íß�÷&#Q�� ô�Ç��. #4� ?/ÂÒ_� �:r�̧ ì�r�í\�¦ �̧r�
���.

1.4 (ÉÙ&P�) B�

(a) ��×�æ #4� ?/ÂÒ\�"f��H \P� µ1ÏÒqts� \O�l� M:ë�H\�, d�� (6.6)�ÐÂÒ'� ÆÒ�:r½+É Ãº e����H ��ü< °ú 

s� x~½Ó�¾ÓÜ¼�Ð_� \P����²ú� 5Åq�̧��H {9�&ñ

���. ����"f ��6£§õ� °ú �Ér �©�p�ì�r ~½Ó&ñ
d�� Óü�6£§�̀¦ ÅÒ

�̧2�¤ d�� (6.1)�Ér y�� 8£x\� @/
�#� 	�YV�Ð æ¼#�4R�� ô�Ç��.

dT

dx
= −

(qx

A

)
/kA 0 ≤ x ≤ LA

dT

dx
= −

(qx

A

)
/kB LA ≤ x ≤ (LA + LB) (6.7)

dT

dx
= −

(qx

A

)
/kC (LA + LB) ≤ x ≤ (LA + LB + LC)

�íl� �̧|	��Ér ��6£§õ� °ú s� ÅÒ#Q�����.

T = T1 when x = 0 (6.8)

�â
>�\�"f_� �:r�̧��H y��y�� T2, T3, T4s���. \P� ����̧�̧�� {9�&ñ
ô�Ç �â
Äº\� @/
�#� d�� (6.7)_� p�

ì�r ~½Ó&ñ
d�� Óü�6£§�Ér &h�ì�rs� |̈c Ãº e���¦, ���õ���H qx/Aü< 8úx �:r�̧ ����o\� @/K� ��6£§õ� °ú �Ér ô�Ç

~½Ó&ñ
d��Ü¼�Ð ����è­q Ãº e����(��[jô�Ç ���½Ó�Ér Geankoplis [1]\� ��ü<e����).

qx/A =
T1 − T4

LA/kA + LB/kB + LC/kC
(6.9)

����"f qx/A��H -17.15 W/m2Ü¼�Ð f��]X� >�íß��)a��. 6£§_� ÂÒ ñ��H \��-t���H Í�t�©�z�́�Ð ���²ú�÷&

��H ��õ	כ °ú s� \P�5Åq�Ér x_� 6£§_� ~½Ó�¾Óe���̀¦ �����·p��. \P����²ú� ~½Ó&ñ
d���̀¦ [jÄº��H Ä»6 xô�Ç �'a_þv
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�Ér \P����²ú��Ér x_� �ª�_� ~½Ó�¾ÓÜ¼�Ð ���'���)a���¦ ��&ñ

���H �,¦��s	כ ���õ�_� ÂÒ ñ��H z�́]j \P� âì

2£§�̀¦ �����·p��.

(b) s� ÂÒì�r�Ér \P�5Åq�̀¦ 0.5 × (−17.15W/m2)Ü¼�Ð ¿º�¦, d�� (6.9)�̀¦ LB\� @/
�#� Û�¦#Q"f

K�����)a��.

(c) \P� ����̧�̧�� �:r�̧_� �<ÊÃº��� �â
Äº\�, Õª Óüt|9�\� @/ô�Ç p�ì�r ~½Ó&ñ
d���Ér K�$3�&h�Ü¼�Ð Û�¦

l��� #Q§>���. s� ë�H]j\� @/ô�Ç ô�Ç��t� ]X���HZO��Ér \P� ����̧�̧ kB�� �:r�̧_� �<ÊÃº�Ð ³ð�&³�)a d��

(6.7)_� p�ì�r ~½Ó&ñ
d�� Óü�6£§�̀¦ ÉÒ��H �.���s	כ s� p�ì�r ~½Ó&ñ
d���Ér MATLAB_� p�ì�r ~½Ó&ñ
d�� K�

ZO� ode45\�¦ s�6 x
�#� Û�¦ Ãº e����. #4� ?/ÂÒ_� 0Au�\� _��>r
���H �:r�̧ T\� @/ô�Ç p�ì�r ~½Ó&ñ


d���̀¦ ]j#Q
�l� 0A
�#� “if ... elseif ... else ... end”\�¦ s�6 xô�Ç��. þj7áx&h���� �â
>��̧|	��̀¦ ëß�

7á¤r�v���H \P�5Åq °ú̀�כ¦ ���&ñ

�l� 0A
�#� �����ZO�(shooting method)s� ��6 x�)a��. �íl� �̧|	�

�Ér x = 0\�"f T = 255s��¦, ëß�7á¤K��� ½+É �â
>��̧|	��Ér x = LA + LB + LC = 0.19{9� M:

T = 298s���. \P�5Åq(qx/A)\� @/K� ���Ãº Qx\�¦ ��6 x
���H �â
Äº_� MATLAB Û¼ß¼wn�àÔ��H ��

6£§õ� °ú s� ÅÒ#Q�����.

p601c.m

clear all
x0=0;
xf=0.19;
T0=255;
[x,T]=ode45(’p601cf’,[x0,xf],T0);
plot(x,T)
xlabel(’x’), ylabel(’T’)
axis([0,0.20,250,300])

p601cf.m

function dTdx=p601f(x,T)
err=T-298;
LA=0.015;
LB=0.1;
kA=0.151;
kB=2.5*exp(-1225/T);
kC=0.762;
Qx=-12.2;
if(x<=LA) dTdx=-Qx/kA;
elseif((x<=(LA+LB))&(x>LA))
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ÕªaË> 6.2: ��×�æ#4�\�"f_��:r�̧ ì�r�í.

dTdx=-Qx/kB;
else

dTdx=-Qx/kC;
end

1���Ãº þj&h��o l�ZO��Ér ë�H]j 3.5\�"f �7H_�÷&%3�Ü¼ 9, ë�H]j 3.6\�"f �7H_��)a �����ZO��̀¦ \P�5Åq

Qx\�¦���&ñ

���HX<��6 x|̈cÃºe����.s�K�\�¦s�6 x
�#�ÕªaË> 6.2\��Ðs���H��ü<°ú �Ér�:r�̧ì�r

�í\�¦ Õªwn= Ãº e����. \P� ����̧�̧_� �:r�̧ _��>r$í
 M:ë�H\� s� Dh�Ðî�r F�«Ñ\�"f_� �:r�̧ T��H ��

o�_� ���+þA �<ÊÃº�� ��_��\� ÅÒ3lq
���.

(c)<JN�~×� MATLAB©�­�=��®��כ�ûY"e� CHAP6���Ý�~²��Ìø p601c.mÌò p601cf.mª�v²

� �b$\ AUe��.

(d) &h�ì�rs� ¢-a«Ñ÷&%3��̀¦ M:_� T4ü< Qx�� ·ú��94R e��l� M:ë�H\� s� K���H T5\�¦ ���&ñ

�l� 0A


�#� d�� (6.3)�̀¦ s�6 x
�#��� ô�Ç��. ¢̧ ��r� T5 = 298�̀¦ ÅÒ��H Qx°úכ_� Ãº§4�u�\�¦ %3�l� 0Aô�Ç

l�ZO�s� ��6 x÷&#Q�� ô�Ç��.
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V� 2 â�
 ¦�>e��\� á~
xjSl� ÑÏ��§, â�
¥o>ÛÖS ¦�>¤n>Uc"��+ á~
 ¦�>�¿

2.1 5���� à�
ÃZ�

"é¶:�x+þA ýa³ð>�\�"f, �����@/ÀÓ �â
>��̧|	�, \P� ����̧�̧�� ���Ér #��Q 8£x_� Óüt|9��̀¦ :�xô�Ç 1	�"é¶

\P� ����̧

2.2 ��£� ÛÖS ÊÁn� B�ß��

���ª�ô�Ç þj7áx �â
>��̧|	��̀¦ ú́�ÆÒl� 0AK� �íl��̧|	��̀¦ þj&h��o
�l� 0A
�#� �����ZO��̀¦ ��6 x
���H

���wn� �©�p�ì�r ~½Ó&ñ
d��_� K�ZO�õ� �â
>� �̧|	�[þt�̀¦ ú́�ÆÒ��H ���5Åq÷&��H �©�p�ì�r ~½Ó&ñ
d��_� K�ZO�

2.3 %K�V� à�
ÃZ�

]X�����)a ������\� ���ÀÓ�� :�x
��¦ e����. ���ÀÓ_� âì2£§�Ér ��6£§\� ���� \P�(\P� \��-t�)�̀¦ µ1ÏÒqtr�

�����.

q̇ =
I2

ke
(6.10)

#�l�"f q̇��H W/m3_� éß�0A\�¦ °ú��¦, I��H ���ÀÓx9��̧(A/m2), ke��H ���l� ����̧�̧(Ω−1m−1)s���.

������_� ìøÍt�2£§ R1(m)�Ér {9�&ñ

���. q̇��H {9�&ñ

��¦ 0Au�\� ���� ���
�t� ·ú§��H����H ��Ér	כ ½+Ëo�

&h���� ��&ñ
s���. ÕªaË> 6.3\� �Ðs���H ��õ	כ °ú �Ér ¿ºa� ∆r, U�́s� L_� "é¶:�x+þA shell\� @/ô�Ç \�

�-t� Ãºt�d���Ér ��6£§õ� °ú �Ér p�ì�r ~½Ó&ñ
d��s� �)a��.

d

dr
(rQr) = q̇r (6.11)

#�l�"f \P�5Åq Qr�Ér Fourier ZO�gË:Ü¼�ÐÂÒ'� ��6£§õ� °ú s� ÅÒ#Q�����.

Qr = −k
dT

dr
(6.12)

����̧ü< @/ÀÓ��H ë�H]j 6.1\�"f �7H_�÷&%3���.
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ÕªaË> 6.3: Shell Ãºt�d���̀¦ 0Aô�Ç p�ì�r ÂÒx�

(a) ëß�{9� ������_� ³ð���s� T1 = 15◦C = 288.15K�Ð Ä»t�÷&�¦, ���l� ����̧�̧ü< \P� ����̧�̧��

y��y�� ke = 1.4 × 105 exp(0.003T )Ω−1m−1õ� k = 5W/m ·K�Ð ÅÒ#Q�������� ������ ?/_�
�:r�̧ü< \P�5Åq�̀¦ >�íß�
��¦ �̧r�
���.

(b) ������ ³ð���\�"f ����� @/ÀÓ\� _�ô�Ç \P����²ú� >�Ãº�� h = 1.32 (|∆T | /D)1/4�Ð ÅÒ#Q�����,

#�l�"f h��H W/m2, ∆T��H K, D��H m_� éß�0A\�¦ °ú���H��. ������ ³ð���\�"f_� \P�5Åq�̀¦ >�

íß�
��¦, ������ ?/ÂÒ_� �:r�̧ ì�r�í\�¦ �̧r�
���. ÅÒ0A_� �:r�̧��H Tb = 15◦C = 288.15Ks�

��. ������_� ìøÍt�2£§�Ér R1 = 0.004ms��¦, 8úx ���ÀÓ��H I = 50A�Ð Ä»t��)a��.

(c) �������Ér ��¾ú  ìøÍt�2£§s� R2 = 0.015m��� ]X����8£xÜ¼�Ð Áú¢#�4Re����. s� ]X����8£x_� \P� ���

�̧�̧��H kI = 0.2W/m ·K�Ð {9�&ñ

���. ]X����8£x ü@ÂÒ ³ð���\�"f_� \P�5Åq�̀¦ >�íß�
��¦, ]X�

���8£xõ� ������ ?/ÂÒ\�"f_� �:r�̧ ì�r�í\�¦ �̧r�
���. s��Qô�Ç ë�H]j\� ]X����F�_� ��6 x\� @/


�#� î̈
��
���.

2.4 (ÉÙ&P�)B�

(a) d�� (6.10)_� \P� µ1ÏÒqt d���̀¦ d�� (6.11)\� @/{9�
���� ��6£§õ� °ú �Ér d���̀¦ %3��̀¦ Ãº e����.

d

dr
(rQr) =

I2r

ke
(6.13)

�íl��̧|	��Ér r = 0s��¦ Qr = 0��� ×�æd�����\�"f ���½+Ë�)a ���Ãº (rQr) = 0s���. d�� (6.12)�Ð ��
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��?/#Qt���H Fourier ZO�gË:�Ér ��6£§õ� °ú s� ���+þA�)a��.

dT

dr
= −Qr

k
(6.14)

#�l�"fþj7áx�̧|	��Ér r = R1\�"f T = T1s���.����"fë�H]j��Hì�ro��)a�â
>��̧|	�õ� r = 0\�"f

_� T\� @/ô�Ç �íl��̧|	�, 7£¤ T0\�¦ þj&h��o
���H �����ZO��̀¦ �í�<Êô�Ç��. ë�H]j 3.5\�"f >hµ1Ï�)a ³ð

l�ZO�õ� �7Ho�\�¦ ��6 x
����, þj7áx �̧|	�\�"f_� �̧	�\�¦ ����?/��H 3lq&h��<ÊÃº��H ��6£§õ� °ú s� æ¼

#������.

ε(T0) = T |r=R1
− 288.15 (6.15)

����"f�:r�̧ T\�@/ô�Ç�íl��̧|	��Ér 288.15K�Ð·ú��9��� T_�þj7áx°ú2�¤̧�/?¦̀�כþj&h��o÷&#Q��

ô�Ç��. þj&h��o�)a �íl��̧|	�s� ���&ñ
÷&���, d�� (6.15)_� Äº���_� °úכ�Ér þj7áx�̧|	�\�"f ��H��&h�Ü¼�Ð

0s��)a��. s� ë�H]j\� @/ô�Ç Ãºd���o õ�&ñ
\� ��6£§õ� °ú �Ér @/Ãº ~½Ó&ñ
d��s� ��6 x�)a��.

Qr =
(rQr)

r
(6.16)

s�d���Ér���½+Ë�)a���Ãº (rQr)\�"fd�� (6.14)\�æ¼s���H Qr�̀¦���&ñ

���HX<�9¹כ�
���.d�� (6.16)\�

"f r = 0\�"f 0Ü¼�Ð ��¾º��H ��Ér	כ MATLAB_� “if ... else ...”\�¦ ��6 x
�#� r = 0\�"f

Qr = 0Ü¼�Ð ńuÜ¼�Ð+�x�½+ÉÃºe����.����"fs�ë�H]j��H��6£§õ�°ú s�d�� (6.13)\�"f (6.16)��

t�\�¦ ���wn��)a +þAI��Ð ����?/�� �)a��. s� ~½Ó&ñ
d�� Óü�6£§�Ér r = 0\�"f T\� @/ô�Ç �íl��̧|	��̀¦ ���

&ñ

���H 1���Ãº �ÃÐÒ�o_� þj7áx ���õ�\�¦ ï�r��.

p602a.m

clear all
r0=0;
rf=0.004;
T0=400;
rQr0=0;
eps=1e-6;
err=1;
derr=1;
while(abs(err/derr)>1e-3)

[r,T]=ode45(’p602af’,[r0, rf],[T0, rQr0]);
n=length(r);
Tn=T(n,1);
err=Tn-288.15;
T0=T0+eps;
[r,T]=ode45(’p602af’,[r0, rf],[T0, rQr0]);
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Tn=T(n,1);
err1=Tn-288.15;
T0=T0-eps;
derr=(err1-err)/eps;
T0=T0-err/derr;

end
for i=1:n
if(r(i)>0)
Qr(i)=T(i,2)/r(i);
else
Qr(i)=0;
end
end
% Temperature Profile
figure(1);
plot(r,T(:,1));
xlabel(’r’), ylabel(’T’)
axis([0,0.004,270,420])
%Heat Flux Profile
figure(2);
plot(r,Qr);
xlabel(’r’), ylabel(’Qr’)
axis([0,0.004,0,3e5])

p602af.m

function dTdr=p602af(r,T)
dTdr=zeros(2,1);
k=5.;
ke=1.4E5*exp(0.0035*T(1));
R1=0.004;
I=400/(pi*R1^2);
qdot=I^2/ke;
if(r==0) Qr=0;
else

Qr=T(2)/r;
end
dTdr(1)=-Qr/k;
dTdr(2)=qdot*r;

�:r�̧ ì�r�í�� ÕªaË> 6.4\� ÅÒ#Q4R e����. >�íß��)a �:r�̧ ì�r�í��H r = 0\�"f l�Ö�¦l��� 0���

���õ�\�¦ ÅÒ 9, r = 0.004m\�"f "é¶
���H �â
>��̧|	� T = 288.15K(15◦C)\�¦ ú́�ð�r��. \P�5Åq Qr�Ér

ÕªaË> 6.5\�"f �Ð��H ��ü< °ú s� ìøÍt�2£§\� @/
�#� q����+þA&h�s���. s� Ãºu�K���H ë�H]j 5.1_� K�

ü< q�5pw
���. s���H Bird et al. [2]_� ]X���HZO�\�"f y©��̧÷&%3�~�� �'a\�"f_� &h�$í
 âì2£§õ� s� ��



10 ]j 6 �©� \P����²ú�
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ÕªaË> 6.4: ³ð��� �:r�̧�� 288.15K(15◦C)�Ð �¦&ñ
�)a �â
Äº_� ������\�"f_� �:r�̧ ì�r�í

\P�÷&��H ������ ë�H]jü<_� �©���$í
�̀¦ �Ð#�ï�r��.

(b) (a)\�"f ��6 x÷&%3�~�� p�ì�r ~½Ó&ñ
d��[þts� &h�6 x�)a��. Õª�Q�� þj7áx �â
>��̧|	��Ér r = R1\�

"f ������ ³ð���Ü¼�ÐÂÒ'� ÅÒ0A�Ð_� @/ÀÓ\�¦ �¦�9
�#��� ô�Ç��. ������ ³ð���\�"f_� \��-t� Ãºt�

��H d�� (6.3)\�"f ���>h�)a ��ü< °ú s� ������ ³ð���Ü¼�Ð_� ����̧(\�_�ô�Ç \P�5Åq)�� ������ ³ð���Ü¼�Ð

ÂÒ'�_� ÅÒ0A�Ð_� @/ÀÓ(\�_�ô�Ç \P�5Åq)ü< °ú >� ńuÜ¼�Ð+� ��6£§õ� °ú s� ³ð�&³|̈c Ãº e����.

Qr|r=R1
= −k

dT

dr

∣∣∣∣
r=R1

= h(T |r=R1
− Tb) (6.17)

#�l�"f ÅÒ0A_� �:r�̧��H Tb�Ð ³ð�&³÷&%3���. d�� (6.17)_� \��-t� Ãºt�d��\�"f_� �̧	�\� ��H��ô�Ç

3lq&h��<ÊÃº��H ��6£§õ� °ú s� ³ð�&³�)a��.

ε(T0) = Qr|r=R1
− h(T |r=R1

− Tb) (6.18)

s� �ª��Ér ���Ãº Qrõ� T�� þj7áx �â
>�\�"f >�íß�|̈c M: 0s� �)a��. ����"f T\� @/ô�Ç �íl��̧|	��̀¦

þj&h��o
���H 1 ���Ãº �ÃÐÒ�os� 
¹כ��9�>� �)a��.

>�íß��)a �:r�̧ ì�r�í��H ÕªaË> 6.6\� ÅÒ#Q4R e����. ÕªaË>\�"f �Ð1pws� ������ ³ð���\�"f ÅÒ0A

�Ð_� �����@/ÀÓ_� ½̈1lx§4���� �:r�̧	��� ß¼�¦ q��§&h� î̈
î̈
ô�Ç �:r�̧ì�r�í�� %3�#Q�����.

p602b.m
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ÕªaË> 6.5: ³ð��� �:r�̧�� 288.15K(15◦C)�Ð �¦&ñ
�)a �â
Äº_� ������\�"f_� \P�5Åq ì�r�í

(a)<J N�~×� MATLAB ©�­�=��®� �ûY"eכ�� CHAP6 ���Ý�~²��Ìø p602a.mÌò p602af.mª�

v² � �b$\ AUe��.

clear all
r0=0;
rf=0.004;
D=2*rf;
T0=457;
rQr0=0;
eps=1e-6;
err=1;
derr=1;
while(abs(err/derr)>1e-3)

[r,T]=ode45(’p602bf’,[r0, rf],[T0, rQr0]);
n=length(r);
Tn=T(n,1);
Qrn=T(n,2)/r(n);
deltaT=abs(Tn-288.15);
h=1.32*(deltaT/D)^(1/4);
err=Qrn-h*deltaT;
T0=T0+eps;
[r,T]=ode45(’p602bf’,[r0, rf],[T0, rQr0]);
Tn=T(n,1);
Qrn=T(n,2)/r(n);
deltaT=abs(Tn-288.15);
h=1.32*(deltaT/D)^(1/4);
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ÕªaË> 6.6: �����@/ÀÓ �â
>��̧|	�_� �â
Äº\� ������\�"f_� �:r�̧ ì�r�í

err1=Qrn-h*deltaT;
T0=T0-eps;
derr=(err1-err)/eps;
T0=T0-err/derr;

end
% Temperature Profile
plot(r,T(:,1));
xlabel(’r’), ylabel(’T’)

p602bf.m

function dTdr=p602bf(r,T)
dTdr=zeros(2,1);
k=5.;
ke=1.4E5*exp(0.0035*T(1));
R1=0.004;
I=50/(pi*R1^2);
qdot=I^2/ke;
if(r==0) Qr=0;
else

Qr=T(2)/r;
end
dTdr(1)=-Qr/k;
dTdr(2)=qdot*r;

(b)<J N�~×� MATLAB ©�­�=��®� �ûY"eכ�� CHAP6 ���Ý�~²��Ìø p602b.mÌò p602bf.mª�
v² � �b$\ AUe��.
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(c) ]X����8£x\���H \P� Òqt$í
�½Ós� \O���H ����̧d��s� ��6 x÷&#Q�� 
��¦, ���Ér \P� ����̧�̧�� ��6 x÷&

#Q�� ô�Ç��. ����"f ]X����8£x\�"f_� ~½Ó&ñ
d�� Óü�6£§�Ér ��6£§õ� °ú s� ÅÒ#Q�����.

d

dr
(rQr) = 0 R1 < r < R2

dT

dr
= −Qr

kI
R1 < r < R2 (6.19)

Qr =
(Qrr)

r
R1 < r < R2

0A_� ����o��H ë�H]j 6.1\�"f ���/åL�)a ��ü< °ú s� MATLAB_�“if ... else ... ”\� _�
�#� ½̈�&³|̈c

Ãº e����. (b)_� �â
>��̧|	�s� R2\�"f ·ú¡_� ~½Ó&ñ
d��\� @/K� &h�6 x|̈c Ãº e����.
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V� 3 â�
 ¿R�N�Uc"� 7�ÇÚ�� ÑÏ�ÐM� ¿R�ËÁ ¦�>�¿Uc �+ø5� ð5�¿R� '�×/�× á~
¦�>

I±Ó

3.1 5���� à�
ÃZ�

�ª�Aá¤ �â
>�\�"f @/ÀÓ�� e���¦ \P� ����̧�̧�� {9�&ñ
ô�Ç �â
Äº\� ìøÍ�â
 ~½Ó�¾Ó_� \P����²ú�.

3.2 ��£� ÛÖS ÊÁn� B�ß��

ÂÒ��&h���� �ª��<ÊÃº&h� @/Ãº ~½Ó&ñ
d��õ� ����'a�)a q����+þA @/Ãº ~½Ó&ñ
d��_� K�

3.3 %K�V� à�
ÃZ�

\P� ����̧�̧�� k = 26Btu/h · ft ·◦ F��� 2in, schedule 40 y©�ô= �'a îß�\� 60psia (292.73◦F)_� $�

·ú� �í�o Ãº7£xl��� e���¦, y©�ô=�'a�Ér \P� ����̧�̧�� k = 0.05Btu/h · ft ·◦ F��� éß�\P�F��Ð W=�)� e��

��. Ãº7£xl� Aá¤_� \P� ���²ú� >�Ãº��H hi = 2000Btu/h · ft2 ·◦ Fs��¦, /BNl�Aá¤_� \P����²ú� >�Ãº��H

ho = 4Btu/h · ft2 ·◦ Fs���. ÅÒ0A /BNl�_� �:r�̧��H 70◦Fs���.

(a) éß�\P�F�_� ¿ºa��� 1ins����, foot{©�_� \P��<Hz�́�̀¦ >�íß�
���.

(b) �'a_� foot{©� \P��<Hz�́s� 50Btu/hs�
��� ÷&��HX< ¹ô�Çכ��9 éß�\P�F�_� ü@ÂÒ ìøÍt�2£§�Ér?

ÉÙ���\�ê�> Ça��× ��� PLl�'a

ÕªaË> 6.7\�"f [O�"î
÷&��H �â
Äº\�, "é¶:�x+þA >�\�"f #��Q \P����²ú� $��½Óõ� ¿º Óüt|9�s� f��§>=�Ð ���

����)a >�\�¦ :�xô�Ç 8úxF�c ìøÍ�â
 ~½Ó�¾Ó \P����²ú��Ér ��6£§õ� °ú s� ³ð�&³�)a��(Geankoplis [1] �ÃÐ�̧).

q =
T1 − T5

1/(hiAi) + (r1 − ri)/kAAAlm
+ (ro − r1)/kBABlm

+ 1/hoAo
(6.20)

?/ÂÒ ³ð���_� ���&h��Ér Ai = 2piLri, ü@ÂÒ ³ð���_� ���&h��Ér Ao = 2piLros��¦, ¿º Óüt|9� ��s�_�

���&h��Ér A1 = 2piLr1s���. \P� ����̧�̧�� {9�&ñ
ô�Ç �â
Äº\� K�$3�&h���� K�\���H ��6£§õ� °ú �Ér Óüt|9�

A(y©�ô= �'a)ü< B(éß�\P�F�)\� @/ô�Ç ��6£§õ� °ú �Ér log î̈
ç�H ���&h�s� 
¹כ��9���.

AAlm
=

A1 −Ai

ln(A1/Ai)
ABlm

=
Ao −A1

ln(Ao/A1)
(6.21)

3.4 B�(V�ò5Ñ)

(a) \P��<Hz�́�Ér d�� (6.20)õ� &h�]X�ô�Ç ���&h�Ü¼�ÐÂÒ'� f��]X� >�íß�|̈c Ãº e����. �̧��H ~½Ó&ñ
d��s� �ª�

�<ÊÃº&h�s�Ù¼�Ð, \P��<Hz�́�Ér MATLABÜ¼�Ð ~1�>� >�íß�|̈c Ãº e����.



]j 3 ]X� �â
>�\�"f @/ÀÓ�� e����H �â
Äº ����̧\� _�ô�Ç ìøÍ�â
 ~½Ó�¾Ó \P����²ú� 15

q

A

B

T1
T2

T3

T4

T5

hi
ro

ho

r1 ri

L=length

ÕªaË> 6.7: �â
>�\�"f @/ÀÓ�� e����H ¿º 7áxÀÓ_� Óüt|9��̀¦ :�xô�Ç ����̧_� �â
Äº\� {9�ìøÍ&h���� ìøÍ�â

~½Ó�¾Ó �:r�̧ ì�r�í

(b) d�� (6.20)�̀¦ ro\� @/ô�Ç q����+þA ~½Ó&ñ
d��Ü¼�Ð �Ð�¦ �ª��<ÊÃº&h� @/Ãº ~½Ó&ñ
d��Ü¼�Ð ÅÒ#Qt���H

ÂÒ��&h���� >�íß��̀¦ 
����, ro_� °úכ�Ér ���&ñ
|̈c Ãº e����. (a)\�"f ��6 x÷&%3�~�� ~½Ó&ñ
d��\� @/ô�Ç ���

çß�_� Ãº&ñ
s� .��a(�̈½¹כ
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V� 4 â�
 í5�á~
ÛÖS ®̧�ãÃ�×ÉÙ'a�+ Uc�/m� Õiµ��


4.1 5���� à�
ÃZ�

\P�����̧�̧���:r�̧_��<ÊÃºs��¦�â
>�\�"f�����@/ÀÓ�â
>��̧|	�s�&h�6 x÷&��H�â
Äº\��'aéß�\P�F�

?/\�"f_� ìøÍ�â
~½Ó�¾Ó \P� ����̧

4.2 ��£� ÛÖS ÊÁn�B�ß��

�â
>��̧|	��̀¦ þj&h��o
�l� 0Aô�Ç �����ZO� x9� ���wn� �©�p�ì�r ~½Ó&ñ
d��_� K�ZO�

4.3 %K�V� à�
ÃZ�

450K_� Ãº7£xl��� âìØÔ��H Ãºî̈
 y©�ô= �'as� \P� ����̧�̧�� �:r�̧\� ���� ����o��H Dh�Ðs� >hµ1Ï

�)a Óüt|9��Ð éß�\P�÷&#Q e����. �:r�̧\� ���Ér \P� ����̧�̧��H ³ð 6.1\� ÅÒ#Q4R e����. �'a ?/ÂÒ_� Ä»

ò́ \P����²ú� >�Ãºü< y©�ô= �'a_� \P� ����̧�̧�� ß¼l� M:ë�H\� y©�ô=�'a_� �:r�̧��H Ãº7£xl�_� �:r�̧ü<

°ú ���¦ ��&ñ
�)a��. y©�ô=�'a_� ü@ÂÒ t�2£§�Ér 0.033ms��¦, ÅÒ0A_� �:r�̧��H 300Ks���. ü@ÂÒ /BN

l�\�"f_������@/ÀÓ\�_�ô�Ç"é¶:�x³ð���Ü¼�ÐÂÒ'�_�ü@ÂÒ\P����²ú�>�Ãº��H��6£§õ�°ú s���H���)a

��(Geankoplis [1] �ÃÐ�̧).

h = 1.32 (|∆T | /D)1/4 (6.22)

#�l�"f h��H \P����²ú� >�Ãº(W/m2 ·K)s��¦, ∆T��H ³ð���õ� /BNl� ��s�_� �:r�̧	�(K)s��¦, D��H

"é¶:�x_� t�2£§(m)s���.

(a) éß�\P�÷&t� ·ú§��H �'a_� m{©�_� \P��<Hz�́�̀¦ >�íß�
���.

(b) éß�\P�F�_� ¿ºa���H 0.04m��� �â
Äº\� �'a_� m{©�_� \P��<Hz�́�̀¦ >�íß�
��¦, éß�\P�F�\�"f_� �:r

�̧ ì�r�í\�¦ �̧r�
���.

³ð 6.1: \P� ����̧�̧ X<s�'�

T in K k in W/m ·K
250 0.042

300 0.061

350 0.077

400 0.087
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450 0.094

500 0.098
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V� 5 â�
 ®̧� flange�× ÉÙ'a�+ á~
 Õiµ��


5.1 5���� à�
ÃZ�

@/ÀÓ�� 1lxr�\� {9�#Q����H ìøÍ�â
 ~½Ó�¾Ó_� 1	�"é¶ \P� ����̧. @/ÀÓ �<Hz�́\� @/ô�Ç ���ª�ô�Ç ÅÒ0A �:r�̧

_� %ò
�¾Óõ� "f�Ð ���Ér Óüt|9��Ð s�ÀÒ#Q��� �'a flange\�¦ :�xô�Ç \P� �<Hz�́ >�íß�.

5.2 ��£� ÛÖS ÊÁn�B�ß��

�����ZO��̀¦ ��6 x
���H �©�p�ì�r ~½Ó&ñ
d��_� ¿º&h� �â
>�u� ë�H]j_� K�ZO� x9� 1���Ãº þj&h��o

5.3 %K�V� à�
ÃZ�

ÕªaË> 6.8\� �Ðs���H ��ü< °ú s� �FK5Åq�'a[þt�Ér �'a_� =åQ\� e����H ¿º flange\�¦ �̂¦àÔ\O�s� ·¡­#�"f ���

����)a��. s� ������ÂÒ[þt�Ér éß�\P�÷&#Q e��t� ·ú§��¤l� M:ë�H\� �'a[þt�Ér ~1�>� ì�ro��)a��. \P����²ú�\�"f

��H s� ������ÂÒ��H ¿º �'a flange�Ð ëß�[þt#Q��� �¦�̂ �FK5Åq "é¶:�xÜ¼�Ð �¦�9�)a��. ÕªaË> 6.8\� �Ðs�

��H ��ü< °ú s� éß�\P�÷&t� ·ú§�Ér ������ÂÒ\�¦ �¦�9
���. �'a ?/_� Ä»�̂_� �:r�̧��H 260◦Fs���.

Ambient Temperature =T

Fluid
at T

Each of the Two
Joined Flnanges is
1/2 inch thick

Thin-Wall Pipe
with Outer
Radius of 1 inch

0

8

ÕªaË> 6.8: ¿º �'a flange�Ð½̈$í
�)a ������ÂÒ_� éß����
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(a) ³ð 6.2\���ü<e����H�FK5Åq×�æ_�
���\�¦���×þ�
��¦, î̈
ç�Hü@ÂÒ�:r�̧�� T∞ = 60◦F{9�M: î̈


ç�H&h�Ü¼�Ð 
�ÀÒ\� flange 
����ÐÂÒ'�_� 8úx \P��<Hz�́�̀¦ >�íß�
���. \P� ����̧�̧��H ³ð 6-2\�

ÅÒ#Q��� 212◦F\�"f ÅÒ#Q��� °úכÜ¼�Ð {9�&ñ

����¦ ��&ñ

���.

(b) (a)_��â
Äº\�ìøÍt�2£§\����Ér\P����²ú�5Åq�̧ü<�:r�̧\�¦ �̧r�
���.8úx\P��<Hz�́×�æ\� flange_�

=åQÜ¼�ÐÂÒ'���H Y>� %_� \P�s� �<Hz�́÷&��H��?

(c) ÆÒî�r ��Ö�¦±ú�(T∞ = 10◦F)õ� ��ÅÒ �8î�r #�2£§±ú�(T∞ = 100◦F)\� @/
�#� (a)\�"f_� °ú 

�Ér Óüt|9�\� @/
�#� 8úx \P��<Hz�́�̀¦ >�íß�
���.

³ð 6.2: Y>� ��t� �FK5Åq_� \P� ����̧�̧

Thermal Conductivity (btu/h · ft ·◦ F)

Metal 68◦F 212◦F 572◦F

Aluminum 132 133 133

Copper 223 219 213

Iron 42.3 39 31.6

Stainles Steel 9.4 10.0 13

Steel (1% C) 24.8 24.8 22.9

5.4 (ÉÙ&P�) B�

¿º flange�Ð s�ÀÒ#Q��� ������ÂÒ��H @/g�As��¦, ����"f ÕªaË> 6-9\� �Ðs���H ��ü< °ú s� �̧Ø�¦�)a ô�Ç

"é¶+þA ���õ� rimÜ¼�ÐÂÒ'�_� \P� �<Hz�́õ� ����'a�)a ô�Ç flangeëß�s� �¦�9�)a��. @/g�A M:ë�H\� "é¶+þA

���_� ���Ér ���, 7£¤ @/g�A����̀¦ :�xô�Ç \P����²ú��Ér \O�Ü¼Ù¼�Ð, @/g�A����̀¦ éß�\P����Ü¼�Ð �¦�9ô�Ç��. ��

��"f ë�H]j��H �:r�̧�� ìøÍt�2£§ ~½Ó�¾Ó_� �<ÊÃº��� 1	�"é¶ ë�H]j�� �)a��. ?/ÂÒ��� r = R1\�"f_� �â


>��̧|	��Ér Ä»�̂_� �:r�̧�� �)a��. �'a�Ér ��ÅÒ ·ûªl� M:ë�H\� �'a_� ¿ºa���H Áºr��)a��. ü@ÂÒ ³ð���

r = R2\�"f_� �â
>��̧|	��Ér ³ð���\�"f ÅÒ0A �:r�̧ T∞�Ð_� \P� @/ÀÓ�Ð ���&ñ
�)a��.

\��-t� Ãºt���H ÕªaË> 6.9\�"f �Ðs���H flange ?/ÂÒ_�p�ì�r ÂÒx�\�@/
�#�[j0>�����. #�

l�"f qr�Ér r~½Ó�¾ÓÜ¼�Ð_� ����̧\� _�ô�Ç 8úx \P����²ú� 5Åq�̧(Btu/min)s���.

{9�§4� + Òqt$í
 = Ø�¦§4� + »¡¤&h�
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B

r
R1

T0 q |
r r

R2

T r+  r∆
q |

r

Ambient air temperature =T 8

q
conv

ÕªaË> 6.9: ������ÂÒ_� ìøÍ�̀¦ +þA$í

���H �'a flange_� éß����

qr|r + 0 = qr|r+∆r + h(2πr)∆r(T − T∞) + 0 (6.23)

·ú¡_� d���̀¦ &ñ
o�
��¦ ∆r → 0_� �FGô�Ç�̀¦ 2[
��¦ qr\� @/ô�Ç �̧�<ÊÃº_� &ñ
_�\�¦ s�6 x
����, ��6£§

õ� °ú �Ér d���̀¦ %3��̀¦ Ãº e����.
dqr

dr
= −h(2πr)(T − T∞) (6.24)

ìøÍt�2£§ r\�"f \P����²ú� 5Åq�̧ qrõ� \P�5Åq Qr ��s�_� �'a>�\���H ìøÍt�2£§ r\�"f_� \P� ����̧

\� @/ô�Ç éß����&h�s� 
¹כ��9��¦, ��6£§õ� °ú �Ér ���õ��� �)a��.

qr = Qr(2πr)B (6.25)

d�� (6.25)\�¦ d�� (6.24)\� @/{9�
����, ��6£§õ� °ú �Ér d��s� Ä»�̧�)a��.

d

dr
(rQr) =

−hr(T − T∞)
B

(6.26)

#�l�"f Qr�Ér \P�5Åq(Btu/ft2 · h)Ü¼�Ð Fourier ZO�gË:Ü¼�ÐÂÒ'� >�íß�÷&#Q ��6£§õ� °ú s� ÅÒ#Qt�

�¦,

Qr = −k
dT

dr
(6.27)

&ñ
o�
���� ��6£§õ� °ú s� �)a��.
dT

dr
= (−Qr)/k (6.28)

·ú¡_�d��\�"f h��H\P����²ú�>�Ãº(Btu/h · ft2 ·◦ F)s��¦, k��H�FK5Åq_�\P�����̧�̧(Btu/h · ft ·◦ F)s�

�¦, B��H flange_� ¿ºa�(ft)s���. @/Ãº ~½Ó&ñ
d���Ér ��6£§õ� °ú s� ÅÒ#Q�����.

Qr =
rQr

r
(6.29)
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����"f \P����²ú� /BN&ñ
�̀¦ l�Õüt
���H p�ì�r ~½Ó&ñ
d���Ér d�� (6-26)õ� (6-28) x9� d�� (6.29)�Ð ÅÒ

#Qt���H @/Ãº&h� �'a>��Ð ½̈$í
�)a��. d�� (6-29)��H ë�H]j\�"f ���Ãº�Ð ��6 x÷&��H ���Ãº�� ¿º ���Ãº

_� Y�L rQrs�Ù¼�Ð, Qr�̀¦ >�íß�
���HX< ��6 x�)a��. d�� (6.26)\� @/ô�Ç (þj7áx) �â
>��̧|	��Ér rimÜ¼

�Ð ����̧\� _�ô�Ç \P�5Åq�̀¦ @/ÀÓ\� _�K� rimÜ¼�ÐÂÒ'� ���²ú�÷&��H \P�5Åq�̀¦ °ú >� ¿º��H rim\� @/ô�Ç

\��-t� Ãºt�d��Ü¼�ÐÂÒ'� %3��̀¦ Ãº e����. ����"f ��6£§õ� °ú �Ér d��s� %3�#Qt� 9,

Qr|r=R2
= h (T − T∞)|r=R2

(6.30)

���Ãº rQr�Ér ��6£§ d��Ü¼�ÐÂÒ'� >�íß��)a��.

(rQr)|r=R2
= R2h (T − T∞)|r=R2

(6.31)

d�� (6.28)�̀¦ 0Aô�Ç �íl��̧|	��Ér ��6£§õ� °ú s� ìøÍt�2£§ r = R1\�"f �:r�̧��H T0�Ð ÅÒ#Qt���H �'a

?/_� Ä»�̂ü< °ú >� �)a����H �.���s	כ

T |r=R1
= T0 (6.32)

(a) �'aõ� flange�� ·ú�ÀÒp�³ouÜ¼�Ð �)a �â
Äº\� B�>h����� °úכ[þt�Ér k = 133btu/h · ft ·◦ F, T0 =

260◦F, T∞ = 60◦F, h = 3btu/h · ft2 ·◦ F�Ð ÅÒ#Q�����. d�� (6.26)õ� (6-28)_� p�ì�r ~½Ó&ñ
d���̀¦

Û�¦l� 0A
�#� ë�H]j 3.5, 6.2 x9� 6.4\�"f �7H_��)a �����ZO��̀¦ s�6 x½+É Ãº e����. d�� (6-26)_� �íl�

�̧|	��Ér���Ãº rQr\�@/
�#����&ñ
÷&#Q��
��¦,d�� (6-31)_��â
>��̧|	�(þj7áx�̧|	�)�̀¦ëß�7á¤r�&�

�� ô�Ç��. s�\�¦ 0A
�#� 3lq&h��<ÊÃº\�¦ ��6£§õ� °ú s� &ñ
_�ô�Ç��.

ε(rQr) = (rQr)|r=R2
−R2h (T − T∞)|r=R2

(6.33)

����"f (rQr)_� �íl��̧|	��Ér d�� (6.33)Ü¼�Ð >�íß�÷&��H 3lq&h��<ÊÃº\�¦ þj�è�o
���H 1���Ãº �ÃÐÒ�o

�̀¦ ��6 x
�#� þj&h��o÷&#Q�� ô�Ç��.

s� ë�H]j\�¦ Û�¦l�0Aô�Ç MATLAB Û¼ß¼wn�àÔ��H ��6£§õ� °ú ��.

p605.m

clear all
r0=0.08333;
rf=0.25;
B=0.5/12;
T0=260;
rQr0=500;
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h=3;
Tinf=60;
eps=1e-6;
err=1;
derr=1;
while(abs(err/derr)>1e-3)

[r,T]=ode45(’p605f’,[r0, rf],[T0, rQr0]);
n=length(r);
n=n(1,1);
T2=T(n,1);
rQr2=T(n,2);
r2=r(n);
err=rQr2-r2*h*(T2-Tinf);
rQr0=rQr0+eps;
[r,T]=ode45(’p605f’,[r0, rf],[T0, rQr0]);
T2=T(n,1);
rQr2=T(n,2);
err1=rQr2-r2*h*(T2-Tinf);
rQr0=rQr0-eps;
derr=(err1-err)/eps;
rQr0=rQr0-err/derr;

end
qr=2*pi*B*T(:,2);
%Heat Transfer Rate Profile
plot(r,qr);
xlabel(’r’), ylabel(’qr’)
axis([0.06,0.26,20,160])

p605f.m

function dTdr=p605f(r,T)
dTdr=zeros(2,1);
k=133;
h=3;
B=.5/12;
Tinf=60;
Qr=T(2)/r;
dTdr(1)=-Qr/k;
dTdr(2)=-h*r*(T(1)-Tinf)/B;

(a)�́í¥4Ìø ì 4SJQ¶6 �Ê6���÷~×� Matlab ©�­�=��®��e� CHAP6 ���Ý�~²��Ìø p605.mÅØ

p605f.mª�v² � �b$\ AUe��.
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ÕªaË> 6.10: ìøÍt�2£§_� �<ÊÃº�Ð ÅÒ#Q��� flange\�"f_� \P����²ú� 5Åq�̧

(b) #��Q r°úכ\�"f_� \P����²ú� 5Åq�̧ q��H 0A_� Ãº§4��)a ���õ�ü< ·ú¡_� Û¼ß¼wn�àÔ\� �í�<Ê�)a d��

(6.25)�ÐÂÒ'� >�íß�|̈c Ãº e����. ���õ���H ÕªaË> 6.10\� ÅÒ#Q4R e����. Flange_� =åQ\�"f_� \P����

²ú� 5Åq�̧��H 38.6btu/hs��¦ R1\�"f_� \P����²ú� 5Åq�̧��H 142btu/hs���. ����"f =åQ\�"f_� \P��<H

z�́ q�Ö�¦�Ér 27.2%s���.
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V� 6 â�
 ��á~
bCÐM� �]�¢�>Uc ��¿#aÑÏ�ÐM� ÊÁË̂� xjS§� ãÃ�×ÉÙ'a�+ á~
¦�>I±Ó

6.1 5���� à�
ÃZ�

@/ÀÓ x9� 4�¤���� e����H }��@/\�"f ����̧\� _�ô�Ç 1	�"é¶ \P����²ú�

6.2 ��£� ÛÖS ÊÁn�B�ß��

�â
>��̧|	�_����ª�$í
\�@/
�#�Ãº§4��̀¦0Aô�Ç�����ZO��̀¦��6 x
���H���wn��©�p�ì�r~½Ó&ñ
d��_�K�ZO�

6.3 %K�V� à�
ÃZ�

ÕªaË> 6-11\�"f �Ð��H ��ü< °ú s� Ãºî̈
 "é¶+þA }��@/("é¶:�x)�� T0 = 275◦F�Ð {9�&ñ

�>� Ä»t�÷&��H

Ãºf�� #4�Ü¼�ÐÂÒ'� T∞_� ÅÒ0A /BNl��Ð \P��̀¦ ���²ú�
���HX< ��6 x�)a��. }��@/_� \P����Ü¼�ÐÂÒ'�_�

�����@/ÀÓ��H ��6£§õ� °ú s� ÅÒ#Q�����.

hs = 0.27 |∆T/D|1/4 (6.34)

#�l�"f hs��H \P����²ú� >�Ãº(btu/h · ft2 ·◦ F)s��¦, ∆T��H }��@/ ³ð����:r�̧ Tü< ÅÒ0A /BNl�_� �:r

�̧ T∞_� 	�s�(K)s��¦, D��H }��@/_� t�2£§(ft)s���. /BNl�\� �̧Ø�¦�)a }��@/_� =åQ\�"f_� \P����²ú�

>�Ãº��H ��6£§õ� °ú s� ÅÒ#Q�����.

he = 0.18 |∆T |1/3 (6.35)

#�l�"f ��6 x�)a éß�0A��H d�� (6.34)\�"fü< °ú ��. }��@/ ³ð���Ü¼�ÐÂÒ'�_� �:r�̧ T∞_� ÅÒ0A�Ð_�

4�¤�� \P����²ú��Ér Ä»ò́ ~½Ó���̧ ε�̀¦ ��6 x
���H Stefan-Boltzmann d��Ü¼�Ð l�Õüt�)a��.

qrad = εσA(T − T∞)4 (6.36)

x
L

∆x

T0 q |
x x T x+  x∆

q |
x

Ambient air temperature =T 8

q
conv

q
rad

ÕªaË> 6.11: Ãºî̈
 "é¶:�xÜ¼�Ð_� \P����²ú�\� @/ô�Ç p�ì�r ¹�èכ
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#�l�"f σ = 0.1714× 10−8btu/h · ft2 · Rs��¦, A��H ³ð���&h�(ft2)s���. �Ð:�x_� �â
Äº\� }��@/_�

t�2£§�Ér }��@/_� U�́s� L\� q�
�#� q��§&h� ����¦, ìøÍt�2£§ ~½Ó�¾ÓÜ¼�Ð_� �:r�̧_� ����o��H ����̀¦ �	כ

s��¦, x~½Ó�¾ÓÜ¼�Ð_� �:r�̧_� ����o��H 9þt �.���s	כ ����"f Ãº�<Æ&h�Ü¼�Ð��H ÅÒ0A /BNl��Ð_� @/ÀÓ

x9� 4�¤��\� _�ô�Ç \P����²ú�s� e����H 1	�"é¶ \P� ����̧ ë�H]j�� �)a��.

(a) }��@/_� Ãºî̈
 ~½Ó�¾Ó�̀¦ ����"f �:r�̧ ì�r�í\�¦ >�íß�
��¦, ��\P�÷&��H ³ð���Ü¼�ÐÂÒ'� }��@/_�

�̧��H ³ð���\�"f_� @/ÀÓëß�\� _�
�#� ]j��÷&��H \P����²ú� 5Åq�̧\�¦ ½̈
���. #4����_� �:r�̧��H

T0 = 275◦F, ÅÒ0A �:r�̧��H T∞ = 70◦F, }��@/_� t�2£§�Ér D = 0.1ft, }��@/_� U�́s���H

L = 0.5fts��¦ }��@/_� \P� ����̧�̧��H k = 30btu/h · ft ·◦ Fs���.

(b) }��@/_� �̧Ø�¦�)a =åQ ÂÒì�r\�"f_� @/ÀÓ�� \O�����H ��&ñ

�\� (a)\�¦ ��r� Û�¦��.

(c) ëß���� Ä»ò́ ~½Ó��0pxs� ε = 0.85��� }��@/ ³ð���Ü¼�ÐÂÒ'�_� 4�¤���� @/ÀÓ\� �í�<Ê�)a �â
Äº\�

(a)\�¦ ��r� Û�¦��.

(d) (b)_� �â
>��̧|	�\� �'aô�Ç ��&ñ
õ� (c)_� 4�¤��\�¦ @/ÀÓ\� �í�<Êr���� ��\	כ @/
�#� #Q�"� ���

�:r�̀¦ ?/wn= Ãº e����H��?

(e) T0 = 575◦F��� �â
Äº\� (a)\�"f (d)\�¦ ��r� Û�¦��.

ÍÙ���\�ê�> Ça��× ��� PLl�'a

á~
¦�>I±ÓUc 7�ø5� �¿D�fÿb� '�×Ça�ÐÏ� }��@/\�"f_� �:r�̧\�¦ l�Õüt
���H p�ì�r ~½Ó&ñ
d���Ér ÕªaË> 6-

11\� Õª�9��� p�ì�r �\¹�èכ @/ô�Ç \��-t� Ãºt�d��Ü¼�ÐÂÒ'� %3�#Q�����.

{9�§4� + Òqt$í
 = Ø�¦§4� + »¡¤&h�

qx|x + 0 = qconv + qrad + qx|x+∆x + 0 (6.37)

}��@/ ?/ÂÒ\���H Fourier_� ZO�gË:(d�� (6.1))s� &h�6 x÷&�¦ ��6£§õ� °ú s� ³ð�&³�)a��.

dT

dx
= (−Qx)/k (6.38)

#�l�"f \P�5Åq�Ér Qx = qx/A�Ð ����?/#Q �����. d�� (3-38)\� @/ô�Ç �íl��̧|	��Ér x=0 \�"f T =

T0s���. \P�5Åq, @/ÀÓ, 4�¤�� x9� Õª\� K�{©�
���H ���&h��̀¦ d�� (6.37)\� @/{9�
���� ��6£§õ� °ú s� �)a
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��.

Qx

(
(πD2)

4

)∣∣∣∣
x

= h(πD∆x)(T−T∞)+εσ(πD∆x)(T−T∞)4+Qx

(
(πD2)

4

)∣∣∣∣
x+∆x

(6.39)

·ú¡_� d��\� ∆x → 0_� �FGô�Ç�̀¦ 2[
���� ��6£§õ� °ú s��)a��.

dQx

dx
= −

(
4
D

) [
hs(T − T∞) + εσ(T − Tinf)4

]
(6.40)

}��@/_� =åQ\�"f_� �â
>��̧|	��Ér ���&h�s� A = πD2/4��� ³ð���\� @/ô�Ç &ñ
�©��©�I� \��-t� Ãºt�d��

Ü¼�ÐÂÒ'� ���&ñ
�)a��.

{9�§4� + Òqt$í
 = Ø�¦§4� + »¡¤&h�

qx|x=L + 0 = qconv + qrad + 0 (6.41)

d�� (6.41)_� #��Q �½Ó\� K�{©�÷&��H ³ð�&³�̀¦ @/{9�
��¦, \P�5Åq\� @/
�#� Û�¦��� ��6£§õ� °ú s� �)a��.

Qx|x=L =
[
h(T − T∞) + εσ(T − T∞)4

]∣∣
x=L

(6.42)

Ç̧Ð7�Uc"� á~
¦�>I±Ó ¢4́�¿Uc ®̧�ø5� '�×Ça�ÐÏ� @/ÀÓü< 4�¤��\� _�ô�Ç }��@/�ÐÂÒ'�_� 8úx \P����²ú�

5Åq�̧��H x = 0��� l�$�\�"f }��@/�Ð_� ����̧\� _�ô�Ç \P����²ú� 5Åq�̧ü< °ú ��. s� 5Åq�̧��H ��6£§õ�

°ú s� ÅÒ#Qt��¦,

qx|x=0 = −k

(
(πD2)

4

)
dT

dx

∣∣∣∣
x=0

(6.43)

d�� (6.38)\� @/ô�Ç Ãºu��� %3�#Qt���� >�íß�|̈c Ãº e����.

6.4 B�(V�ò5Ñ)

Ãºu�K���H d�� (6.38)õ� (6-40)_� 1lxr� &h�ì�rs� .��a(�̈½¹כ ë�H]j 3.6\�"f >hF�cô�Ç �����ZO��Ér

(dQx)/dx|x=0\� @/ô�Ç �íl��̧|	��̀¦ Ãº§4�r�v���HX< ��6 x÷&�¦, Qx\� @/ô�Ç "é¶
���H þj7áx �̧|	�

s� %3�#Q�����. s�\� K�{©�
���H, 0Ü¼�Ð Ãº§4�K���½+É þj7áx �̧|	�\�@/ô�Ç 3lq&h��<ÊÃº��H d�� (6-42)�Ð

ÂÒ'� ��6£§õ� °ú s� æ¼#������.

err = Qx|x=L −
[
he(T − T∞) + εσ(T − T∞)4

]∣∣
x=L

(6.44)

}��@/�Ð_� \P����²ú� 5Åq�̧��H d�� (6.43)Ü¼�ÐÂÒ'� %3��̀¦ Ãº e����. \P����²ú�_� #��Q Ä»+þA�Ér ~½Ó&ñ
d��

[þt\� e����H �½Ó[þt�̀¦ �̧&ñ

�#� �̧4Sqa�A÷&�¦, �â
>��̧|	�[þt�̧ q�5pw
�>� Ãº&ñ
�)a��.
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V� 7 â�
 ºÇÔḈÐÌfC '�×á~
÷5�ãÃ�×ÉÙ'a�+ á~
¦�>I±Ó

7.1 5���� à�
ÃZ�

³ð���Ü¼�ÐÂÒ'�_� @/ÀÓ�� e����H ���y��+þA ~½Ó\P�óøÍ\�"f ����̧\� _�ô�Ç 1	�"é¶ \P����²ú�

7.2 ��£� ÛÖS ÊÁn�B�ß��

�����ZO��̀¦ ��6 x
���H ���wn� �©�p�ì�r ~½Ó&ñ
d��_� ¿º&h� �â
>�u� ë�H]j_� K�ZO�

7.3 %K�V� à�
ÃZ�

���y��+þA ~½Ó\P�óøÍ�Ér �è|¾Ó_� ~½Ó\P�óøÍ F�«Ñ\�¦ ��6 x
�#� \P����²ú� 5Åq�̧\�¦ 7£x��r�v�l�0A
�#� V,�o�

��6 x�)a��. s�ü< °ú �Ér ~½Ó\P�óøÍ�Ér ÕªaË> 6.12\� ÅÒ#Q4R e����. s�ü< °ú �Ér ~½Ó\P�óøÍ�̀¦ çß�|ÄÌy� K�$3�


�l� 0A
�#� �:r�̧ T�� x\� @/K�"fëß� ���
� 9, ~½Ó\P�óøÍ_� �ª�=åQÜ¼�Ð ÂÒ'�_� \P��<Hz�́�Ér \O��¦,

\P����²ú� >�Ãº�� {9�&ñ
ô�Ç éß�í�H @/ÀÓ�� ~½Ó\P�óøÍ ³ð���Ü¼�ÐÂÒ'�_� @/ÀÓ\�¦ l�Õütô�Ç����H ��&ñ
[þt�̀¦

s�6 xô�Ç��.

x
L

∆x

T0 q |
xx x+  x∆

q |
x

Ambient air temperature =T 8

q
conv

TH

W= thickness of fin

= angle of tipθ

ÕªaË> 6.12: ���y��+þA ~½Ó\P�óøÍ\�"f_� \P����²ú�\� @/ô�Ç p�ì�r ¹�èכ

����"f ÕªaË> 6.12\� �Ðs���H p�ì�r ÂÒx�\� @/ô�Ç \��-t� Ãºt�d���Ér ��6£§õ� °ú s� �)a��.

{9�§4� + Òqt$í
 = Ø�¦§4� + »¡¤&h�

qx|x + 0 = qconv + qx|x+∆x + 0 (6.45)
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~½Ó\P�óøÍ_� �À»���õ� x9����Ü¼�ÐÂÒ'�_� @/ÀÓ \P����²ú��Ér ��6£§õ� °ú >� �)a��.

qconv = 2W∆x sec θhs(T − T∞) (6.46)

#�l�"f H��H ~½Ó\P�óøÍ_� Z�}s�s��¦, θ��H ~½Ó\P�óøÍ_� =åQ\�"f_� y���̧�Ð l�Ö�¦l���H W/2L. &ñ
_�ü<

éß�0A��H ë�H]j 6.6\�"f ÅÒ#Q��� ��õ	כ °ú ��. d�� (6.45)\�¦ ∆x�Ð ��¾º�¦, �̧�<ÊÃº_� &ñ
_�\�¦ s�6 x


�#� &ñ
o�
����, ��6£§õ� °ú �Ér p�ì�r ~½Ó&ñ
d��s� %3�#Q�����.

dq

dx
= −2W sec θhs(T − T∞) (6.47)

~½Ó\P�óøÍ\�"f_� \P� ����̧\� @/ô�Ç Fourier ZO�gË:�Ér ��6£§õ� °ú s� æ¼#������.

q = −kA
dT

dx
(6.48)

#�l�"f A�Ð ÅÒ#Qt���H éß����&h��Ér x_� �<ÊÃº�Ð ��6£§õ� °ú s� ÅÒ#Q�����.

A =
(
1− x

L

)
H (6.49)

����"f d�� (6.48)�Ér A\� @/ô�Ç d�� (6.49)\�¦ ��6 x
�#� ��6£§õ� °ú s� æ¼#������.

dT

dx
=

q

−k
(
1− x

L

)
H

(6.50)

d�� (6.47)\� @/ô�Ç þj7áx�̧|	��Ér q|x=L = 0s��¦, d�� (6-50)\� @/ô�Ç �íl��̧|	��Ér T |x=0 = T0s�

��.

(a) ³ð 6.2\� e����H �FK5Åq[þt ×�æ_� 
���\�¦ ×þ�
�#� ���y��+þA ~½Ó\P�óøÍÜ¼�Ð ��6 xô�Ç��. ~½Ó\P�óøÍ_�

U�́s� ~½Ó�¾ÓÜ¼�Ð_� �:r�̧ ì�r�í\�¦ ½̈
��¦, ��\P� #4����Ü¼�ÐÂÒ'�_� \P� ]j�� 5Åq�̧\�¦ >�íß�


���. #4�_� �:r�̧��H T0 = 212◦Fs��¦, ~½Ó\P�óøÍ_� U�́s���H L = 10fts���. ÅÒ0A_� �:r�̧��H

T∞ = 60◦Fs��¦ hs = 2.5btu/h · ft2 ·◦ Fs���. �FK5Åq_� \P� ����̧�̧��H ³ð 6.2_� 212◦F\�

"f_� °úכÜ¼�Ð {9�&ñ

����¦ ��&ñ

���.

(b) (a)\�"f ÅÒ#Q��� �â
Äº\� @/
�#� z�́]j \P����²ú� 5Åq�̧ü< ~½Ó\P�óøÍ ����̂�� l�$� �:r�̧\� e��

�̀¦M:_� \P����²ú� 5Åq�̧_� q��Ð &ñ
_�÷&��H ò́Ö�¦����� ηf��H \O��������?

(c) ~½Ó\P�óøÍ_� F�«Ñ �FK5Åq_� \P� ����̧�̧\�¦ 212◦F\�"f_� °úכÜ¼�Ð {9�&ñ

����¦ ��&ñ
�<ÊÜ¼�Ð+�

\O����� ú́§�Ér �̧	��� (b)_� �â
Äº\� [þt#Q����H��?

(d) \P� ����̧�̧�� {9�&ñ
ô�Ç �â
Äº\� \��-t� Ãºt�d��õ� Fourier ZO�gË:�̀¦ ���½+Ëô�Ç 2>� �©�p�ì�r ~½Ó

&ñ
d��õ� �â
>��̧|	��Ér #Qb�G>� ÷&��H��?
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V� 8 â�
 ®̧�¥�́Uc 7�ÇÚ á~
¦�>I±Ól� ÑÏ�ÐM� ¿R�ËÁ�+ í5���
 ¿R��× á~
 ¬̈».Ée�

8.1 5���� à�
ÃZ�

½̈1lx§4�s� î̈
ç�H �:r�̧, log î̈
ç�H �:r�̧, ²DGt� �:r�̧��� �â
Äº_� éß�í�H \P� �§8̈�l�, Óüt$í
s� �:r�̧\�

���� ���
���H èß�ÀÓ âì2£§�̀¦ �í�<Ê
���H \P����²ú�, 8úxF�c x9� p�ì�r \��-t� Ãºt�d��_� éß�í�H \P� �§8̈�

l��Ð_� &h�6 x.

8.2 ��£� ÛÖS ÊÁn�B�ß��

q����+þA ~½Ó&ñ
d��õ� �©�p�ì�r ~½Ó&ñ
d��_� K�ZO�

8.3 %K�V� à�
ÃZ�

éß�í�H \P� �§8̈�l���H îß�Aá¤ t�2£§s� D = 0.01033ms��¦ �©�{©�U�́s��� L = 8m��� éß�{9� �'aÜ¼�Ð

s�ÀÒ#Q�����. s� \P� �§8̈�l�\�"f m = 1kg/s_� �â
|9� òøÍ�oÃº�è�� TS = 170◦C\�"f 6£x»¡¤÷&

��H Ãº7£xl�\� _�
�#� ��\P��)a��. Ãº7£xl�\�"f �'aÜ¼�Ð_� \P����²ú� >�Ãºü< �'a #4�_� \P� ����̧�̧��

��ÅÒ ß¼l� M:ë�H\� �'a_� ?/#4�\�"f_� �:r�̧��H Ãº7£xl�_� �:r�̧�Ð ��&ñ
�)a��. òøÍ�o Ãº�è_� &h�

�̧(kg/m · s)��H �:r�̧\� ����"f ß¼>� ���
� 9 ��6£§õ� °ú s� ÅÒ#Q�����.

µ = exp [−12.86 + 1436/(T − 153)] (6.51)

#�l�"f T��H �:r�̧(K)s���. ���Ér Óüt$í
[þt�Ér �:r�̧\� @/
�#� �©�Ãºs� 9 ρ = 850kg/m3, Cp =

2000J/kg ·K, k = 0.140W/m ·K�Ð ÅÒ#Q�����. òøÍ�o Ãº�è_� {9�§4� �:r�̧��H T1 = 40◦Cs���.

(a) ZO�ß¼ î̈
ç�H�:r�̧\�¦��6 x
�#�Óüt$í
�̀¦>�íß�
��¦,\P����²ú��̀¦{9�Ü¼v���H ½̈1lx§4��̀¦ î̈
ç�H∆T\�¦

��6 x
�#� òøÍ�o Ãº�è âì2£§_� Ø�¦½̈ �:r�̧\�¦ >�íß�
���. 8úx \P����²ú� |¾Ó�Ér \O��������? èß�ÀÓ

���òøÍ�oÃº�èâì2£§\�"f\P����²ú�>�Ãº hi\�¦>�íß�
���HX<d�� (2.21)�ÐÅÒ#Q��� Sieder-Tate

d��s� ��6 x�)a��.

(b) \P����²ú� ½̈1lx§4�Ü¼�Ð log î̈
ç�H �:r�̧	�\�¦ ��6 x
�#� (a)\�¦ ��r� Û�¦��.

(c) ²DGt�&h����Óüt$í
[þt�̀¦��6 x
���Hd�� (2-21)_� Seider-Tated���̀¦��6 x
��¦,\P��§8̈�l�_�U�́

s�\� ���Ér ²DGt� \��-t� Ãºt�\�¦ ÉÒ��H p�ì�r ~½Ó&ñ
d�� ]X���HZO�Ü¼�Ð (a)\�¦ ��r� Û�¦��.
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ÉÙ���\�ê�> Ça��× ��� PLl�'a

8úxF�c \P����²ú� >�Ãº\�¦ ��6 x
���H ²DGt� ¢̧��H &h�(point) \��-t� Ãºt���H ��6£§õ� °ú s� ³ð�&³�)a

��(Geankoplis [1] �ÃÐ�̧).

q = hiA∆T (6.52)

#�l�"f hi��H �'a_� ?/ÂÒ ���&h�\� l�ï�r
���H \P����²ú� >�Ãº(W/m2 ·K)s��¦ ?/ÂÒ ���&h�(m2)�Ér A

s���.

�'a8£¤ Ä»�̂\� @/ô�Ç 8úxF�c \��-t� Ãºt���H ��6£§õ� °ú >� �)a��.

qT = mCp(T2 − T1) (6.53)

#�l�"f qT��H 8úx \��-t� ���²ú� 5Åq�̧s��¦, (T2 − T1)�Ér \P� �§8̈�l�\�¦ :�xõ�
����"f 7£x��÷&��H �:r

�̧\�¦ �����·p��.

Ë̂�!C� Öeµ�¿ Ä©�â �]� \P� �§8̈�l�_� U�́s�\� ���� ½̈1lx§4�s� ß¼>� ���
�t� ·ú§�̀¦ M:, {9�½̈ü< Ø�¦

½̈\�"f_� î̈
ç�H �:r�̧	��� d�� (6.52)\� ��6 x|̈c Ãº e����.

∆T = ∆Tm =
[
(T ′1 − T1) + (T ′2 − T2)

]
/2 (6.54)

ÕªaË> 6.13_� {9�ìøÍ&h���� #î
ÀÓ âì2£§_� �â
Äº\�"f %�!3� #�l�"f 
�'���� 1�Ér �'a {9�½̈ 0Au�\�¦, 
�

'���� 2��H �'a Ø�¦½̈_� 0Au�\�¦ �����·p��. Prime(’)�Ér s� ë�H]j\�"f��H Ãº7£xl�_� �:r�̧ TS�Ð {9�

&ñ
ô�Ç �¦�:rÂÒ\�¦ �����·p��.

x

L

1T∆ T∆ 2

1T'

2T'

1T
1T'

ÕªaË> 6.13: éß�{9� �â
�Ð #î
ÀÓ \P� �§8̈�l�\� @/ô�Ç {9�ìøÍ&h���� �:r�̧ ì�r�í
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Log Ë̂�!C� Öeµ�¿ Ä©�â �]� á~
 �§8̈�l�_� U�́s�\� ���� ½̈1lx§4�s� �&³$�
�>� ���½+É �â
Äº, {9�½̈ü<

Ø�¦½̈\�"f_� �:r�̧_� log î̈
ç�Hs� d�� (6.52)\� ��6 x÷&#Q�� ô�Ç��.

∆T = ∆Tlm =
[(T ′1 − T1)− (T ′2 − T2)]
ln[(T ′1 − T1)/(T ′2 − T2)]

(6.55)

�±�m� Öeµ�¿ Ä©�â �]� ÕªaË> 6.14\��Ðs���H��ü<°ú s�{9�½̈\�"f xëß��pub��#Q���/BM\�0Au�ô�Ç&h�

\�"f_� p�ì�r \��-t� Ãºt�\�¦ ���$í
½+É Ãº e����. �'a_� p�ì�r �\¹�èכ @/ô�Ç &ñ
�©��©�I� \��-t� Ãº

t���H ��6£§õ� °ú >� �)a��.

����������������������������������������������������
����������������������������������������������������

����������������������������������������������������
����������������������������������������������������
����������������������������������������������������

����������������������������������������������������
����������������������������������������������������

����������������������������������������������������
����������������������������������������������������
����������������������������������������������������

m

m'

m'

x x∆

L

q
ri

T

T'

T'

T1

T1
'

T1
'

T2

T2
'

T2
'

ÕªaË> 6.14: éß�{9� �â
�Ð #î
ÀÓ \P� �§8̈�l�\�"f \��-t� Ãºt�\�¦ 0Aô�Ç p�ì�r ¹�èכ

{9�§4� + Òqt$í
 = Ø�¦§4� + »¡¤&h�

mCpT |x + q + 0 = mCpT |x+∆x + 0 (6.56)

#�l�"f m�Ér �'a\�"f_� |9�|¾Ó âì2£§ 5Åq�̧(kg/s)s���. �¦�:rÂÒ�ÐÂÒ'� �'a8£¤Ü¼�Ð_� {9�§4��̀¦ ����

?/��H q�½Ó�Ér d�� (6.52)ü< \P����²ú�\� @/ô�Ç p�ì�r ���&h��̀¦ ��6 x
�#� ��6£§õ� °ú s� ����è­q Ãº e��

��.

q = hi(2πri∆x)(T ′ − T ) (6.57)

∆x\�¦ 0Ü¼�Ð �Ð?/��H �FGô�Ç�̀¦ 2[
��¦ &ñ
o�
���� ��6£§õ� °ú �Ér p�ì�r ~½Ó&ñ
d��s� %3�#Q�����.

d

dx
(mCpT ) = hi(2πri)(T ′ − T ) (6.58)

mõ� Cp�� {9�&ñ
ô�Ç �â
Äº\� p�ì�r \��-t� Ãºt���H ��6£§õ� °ú s� çß�|ÄÌ�o �)a��.

dT

dx
=

hi(2πri)(T ′ − T )
mCp

(6.59)
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s� p�ì�r ~½Ó&ñ
d���Ér \P� �§8̈�l�_� �'a8£¤ Ä»�̂_� �:r�̧\�¦ \P� �§8̈�l�_� U�́s�_� �<ÊÃº�Ð \V8£¤
���H

X< ��6 x|̈c Ãº e����. �íl��̧|	��Ér x = 0\�"f T = T1s���. s� ~½Ó&ñ
d���̀¦ x = L��t� &h�ì�r
����

�'a_� Ø�¦½̈\�"f Ä»�̂_� �:r�̧\�¦ %3��̀¦ Ãº e����.

8.4 (ÉÙ&P�) B�

(a)ÿ? (b) s� \P� �§8̈�l�\�¦ &ñ
�©��©�I�\�"f �̧\O�
���H 1lxîß�\� (:�x8£¤_�) Ãº7£xl��ÐÂÒ'� ���²ú�

�)a 8úx \P�|¾Ó�Ér d�� (6.52)\�¦ ��6 x
�#� >�íß�½+É Ãº e����. q = qT��H d�� (6.53)\� _�
�#� ÅÒ#Qt�

��H (�'a8£¤_�) �â
|9� òøÍ�oÃº�è�Ð ���²ú��)a \P�|¾Óõ� °ú ���� ô�Ç��. ����"f s� ¿º d��\�"f qT\�¦ �è

��
���� Ø�¦½̈�:r�̧ T2\� @/ô�Ç ��6£§õ� °ú �Ér q����+þA ~½Ó&ñ
d��s� %3�#Q�����.

hiA∆T = mCp(T2 − T1) (6.60)

·ú¡_� ~½Ó&ñ
d��\�"f ���&h� �½Ó�Ér A = 2πriL�Ð ÅÒ#Qt���H �'a_� ?/ÂÒ ³ð���&h�s���. ���²ú��)a 8úx \P�

|¾Ó�Ér d�� (6.53)Ü¼�ÐÂÒ'� >�íß��)a��. Log î̈
ç�H �:r�̧ ½̈1lx§4�s� ��6 xH�d\� ÅÒ_�
���. Log �½Ó�̀¦

Y�LK�"f q����+þA ~½Ó&ñ
d���̀¦ ��6£§õ� °ú s� &ñ
o�
���H ��s	כ ¼#�o�
���.

hi[(T ′1 − T1)− (T ′2 − T2)] = mCp(T2 − T1) ln[(T ′1 − T1)/(T ′2 − T2)] (6.61)
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V� 9 â�
 l�
ä»®̧� á~
 ¬̈».Ée�

9.1 5���� à�
ÃZ�

Óüt$í
õ� \P����²ú� >�Ãº[þts� 0Au�\� ���� ���
���H �â
Äº\� p�ì�r \��-t� Ãºt�d���̀¦ ��6 xô�Ç #î
ÀÓ

x9� �¾ÓÀÓ \P� �§8̈�l� >�íß�

9.2 ��£� ÛÖS ÊÁn�B�ß��

s�p� ·ú��9��� �íl� �̧|	�(#î
ÀÓ_� �â
Äº) ¢̧��H ¥̧>h��� �â
>��̧|	�(�¾ÓÀÓ_� �â
Äº)�̀¦ ��6 x
�#� ���

½+Ë�)a 1>� �©�p�ì�r ~½Ó&ñ
d��[þt_� K�

9.3 %K�V� à�
ÃZ�

ÕªaË> 6.15\�Õª�9���s�×�æ�'a\P��§8̈�l� �̧\O�_�ô�Ç+þAI���H{9�½̈�:r�̧ T1Ü¼�Ð[þt#Qü<"fØ�¦½̈�:r

�̧ T2�Ð������Hm′lbm/h_�&ñ
�©��©�I�âì2£§�̀¦Í�ty��r�v���H��_s���.:�x8£¤_�Ä»�̂��Hmlbm/hr	כ

Ä»5ÅqÜ¼�Ð {9�½̈�:r�̧ T ′1\�"f T ′2Ü¼�Ð ��\P��)a��.

³ð 6.3\�ÅÒ#Q���Ä»�̂×�æ_�
���\�¦×þ�
�#�s�×�æ�'a\P��§8̈�l�\�"fÓüt\�_�
�#�Í�ty���)a

���¦
���.Í�ty��Ãº_�Ä»5Åq�Ér�½Ó�©�Ó�o�̂_��â
Äº\���HÓ�o�̂_�Ä»5Åq_� 300%7£¤ 3C�s��¦,l��̂

��� �â
Äº\���H l��̂_� Ä»5Åq_� 30C�s���. Í�ty��Ãº��H 65◦F\�"f ���5Åq&h�Ü¼�Ð s�6 x��0px
���. :�x

õ� �'a8£¤_� ²DGt� @/ÀÓ \P����²ú� >�Ãº��H ��6£§õ� °ú s� ÅÒ#Qt���H Dittus-Boelter �©��'ad��[?]Ü¼�Ð

>�íß��)a��.

Nu = 0.023Re0.8Prn (6.62)

����������������������������������������������������
����������������������������������������������������

����������������������������������������������������
����������������������������������������������������
����������������������������������������������������

����������������������������������������������������
����������������������������������������������������

����������������������������������������������������
����������������������������������������������������
����������������������������������������������������

m

m'

x x∆

L

q

T

T'

T1

T1
'

T2

T2
'

T1 m T T2

Dis
DitDot

ÕªaË> 6.15: #î
ÀÓ âì2£§\� @/ô�Ç s�×�æ�'a \P� �§8̈�l�
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¢̧��H

hD

k
= 0.023

(
Dvρ

µ

)0.8 (
Cpµ

k

)n

(6.63)

#�l�"f ��\P�÷&��H �â
Äº\���H n = 0.4, Í�ty��÷&��H �â
Äº\���H n = 0.3s���. ���ª�ô�Ç �½Ó[þts� ë�H

]j 2.5\�"f �7H_�÷&%3���. Re _� vρ�½Ó�Ér |9�|¾Ó5Åq ¢̧��H |9�|¾Ó 5Åq�̧�Ð :�x�©�&h�Ü¼�Ð ³ð�&³÷&�¦,

vρ = m/Acs� 9 m �Ér |9�|¾Ó Ä»5Åq, Ac��H âì2£§\� @/ô�Ç éß����&h��̀¦ �����·p��.

\P� �§8̈�l�_� ×�æd���'a�Ér \P� ����̧�̧�� 220btu/ft · h ·◦ F�Ð {9�&ñ
ô�Ç ½̈o��Ð ÷&#Q e��Ü¼ 9,

y©�ô=�Ð �)a :�x_� ü@ÂÒ��H éß�\P�s� ��ÅÒ ú̧� ÷&#Q e����. �'a$3�_� +þA$í
�Ér ë�H]j�� ÷&t� ·ú§��H��. #�

�Q �:r�̧\�"f_� "f�Ð ���Ér Ä»�̂_� Óüt$í
[þt�Ér ÂÒ2�¤ E_� ³ð E-2ü< E-3\� ÅÒ#Q4R e����.

³ð 6.3\�"f Ä»�̂\�¦ ���×þ�
��¦ �̧��H ë�H]j[þt\� @/
�#� &h�6 x
���.

(a) ���×þ��)aÄ»�̂��\P��§8̈�l�_��'a8£¤\�"f,Í�ty��Ãº��:�x8£¤\�"f#î
ÀÓ�Ðâì\�¦M:"é¶
���HØ�¦

½̈ �:r�̧\� �̧²ú�
���HX< ¹ô�Çכ��9 ��o�\�¦ >�íß�
���.

(b) ���×þ��)aÄ»�̂��\P��§8̈�l�_��'a8£¤\�"f,Í�ty��Ãº��:�x8£¤\�"f�¾ÓÀÓ�Ðâì\�¦M:��o�\�¦>�

íß�
���.

(c) Í�ty��Ãº��\P��§8̈�l�_��'a8£¤\�"f,���×þ��)aÄ»�̂��:�x8£¤\�"f#î
ÀÓ�Ðâì\�¦M:��o�\�¦>�

íß�
���.

(d) Í�ty��Ãº��\P��§8̈�l�_��'a8£¤\�"f,���×þ��)aÄ»�̂��:�x8£¤\�"f�¾ÓÀÓ�Ðâì\�¦M:��o�\�¦>�

íß�
���.

³ð 6.3: ���ª�ô�Ç Ä»�̂[þt\� @/ô�Ç \P� �§8̈�l� �̧\O� X<s�'�

Fluid Flow Inlet Outlet Inside Tube Outside Pipe

m T T OD Nominal

lbm/h ◦F ◦F in. BWG Pipe, in Schedule

Benzene (liquid) 3000 150 80 7/8 16 11
2 40

Kerosene (liquid) 4000 140 85 1 14 2 80

Ammonia (liquid) 2000 120 82 3/4 12 11
4 40

Carbon Dioxide (gas) 25 250 85 5/8 16 1 40
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Sulfur Dioxide (gas) 35 300 90 3/4 14 11
4 80

ÉÙ���\�ê�> Ça��× ��� PLl�'a

\P� �§8̈�l���H ÕªaË> 6.15\�"f �Ð��H��ü< °ú �Ér �'a8£¤õ� :�x8£¤_� âì2£§ ~½Ó�¾Ós� °ú �Ér #î
ÀÓ ¢̧��H :�x

8£¤_� Ä»�̂_� âì2£§ ~½Ó�¾Ós� �'a8£¤ Ä»�̂_� âì2£§ ~½Ó�¾Óõ� ìøÍ@/��� �¾ÓÀÓ�Ð �̧\O�|̈c Ãº e����.

ÄZ�ÇÚ #î
ÀÓ âì2£§\�"f �'a8£¤ Ä»�̂\� @/ô�Ç p�ì�r \��-t� Ãºt���H ë�H]j 6.8\�"f ��[jy� ���/åL�)a

��õ	כ q�5pw
�>�, prime�Ér �¦�:r ¢̧��H �¦�:r Ä»�̂_� Óüt$í
�̀¦ _�p�
���� ��6£§õ� °ú s� �)a��.

d

dx
(T ′) = −Ui(πDi)(T ′ − T )

m′C ′
p

(6.64)

#�l�"f 8úxF�c \P����²ú� >�Ãº(btu/hft2 ◦F)��H �'a_� �'a_� îß�Aá¤ t�2£§(ft)s�Di��� �â
Äº\� πDi�Ð

ÅÒ#Qt���H ?/ÂÒ ���&h�\� ��H��ô�Ç��. d�� (6.64)\� @/ô�Ç �íl��̧|	��Ér �'a\� @/K�"f��H {9�½̈ �:r�̧

T ′1s��¦ þj7áx �̧|	��Ér �'aÜ¼�ÐÂÒ'�_� Ø�¦½̈ �:r�̧ T ′2s���. q�5pw
�>� ú̧� éß�\P��)a :�x8£¤\� @/K�"f,

#î
ÀÓ âì2£§\�"f :�x8£¤ Ä»�̂ü< ?/ÂÒ \P����²ú� ���&h�\� @/ô�Ç p�ì�r \��-t� Ãºt���H ��6£§õ� °ú >� �)a

��.
d

dx
(T ) = −Ui(πDi)(T ′ − T )

mCp
(6.65)

#�l�"f :�x8£¤_� @/ÀÓ \P����²ú� >�Ãº��H ?/ÂÒ �'a_� ü@ÂÒ t�2£§(ft) Di\� ��H��ô�Ç��. :�x8£¤_� {9�½̈

x9� Ø�¦½̈ �̧|	��Ér y��y�� T1õ� T2s���. ÕªaË> 6.13�Ér s��Qô�Ç ³ðl�ZO��̀¦ ��6 x
���H �â
Äº\� {9�ìøÍ&h�

��� #î
ÀÓ âì2£§_� �:r�̧ ì�r�í\�¦ �Ð#�ï�r��.

¥@ y<� á~
¦�>I±Ó N�ÊÁ ?/ÂÒ ���&h�\� ��H��ô�Ç ²DGt� 8úxF�c \P����²ú� >�Ãº��H ��6£§õ� °ú �Ér d��\� _�
�

#� >�íß��)a��(Geankoplis [1]).

Ui =
1

1/hi + ((rot − rit)Dit)/(ktDtlm) + Dit/(Dotho)
(6.66)

#�l�"f t��H �'a #4�õ� F�«Ñü< ]j"é¶�̀¦ �����·p��. Dtlm�Ér �'a#4�\� @/ô�Ç log î̈
ç�H t�2£§(¢̧��H ���

&h�)�̀¦ �����·p��.

§� ¥�́Uc"��+ á~
¦�>I±Ó :�x "é¶8̈�(annulus)\� e����H Ä»�̂\� @/ô�Ç \P����²ú� >�Ãº��H ü@ÂÒ t�2£§\�

"f ?/ÂÒ t�2£§�̀¦ �É� �©�{©� t�2£§�̀¦ ��6 x
�#� >�íß��)a��. s� �©�{©� t�2£§�Ér \P����²ú� �©��'ad��\�"f

Reynolds Ãºü< Nusselt Ãº\�¦ >�íß�
���HX< ��6 x�)a��.
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/�×ÇÚ âì2£§ �¾ÓÀÓ âì2£§\�"f �'a8£¤ Ä»�̂\� @/ô�Ç p�ì�r \��-t� Ãºt���H d�� (6.64)ü< 1lx{9�
���.


�t�ëß� :�x8£¤\�"f��H Ä»�̂_� âì2£§ ~½Ó�¾Ós� ìøÍ@/�� ÷&Ù¼�Ð p�ì�r \��-t� Ãºf��d���Ér ��6£§õ� °ú 

>� �)a��.
dT

dx
= −Ui(πDi)(T ′ − T )

(mCp)
(6.67)

0Ad���Ér#î
ÀÓâì2£§\�@/ô�Çd��\� -1�̀¦Y�Lô�Ç�
.�� õ�°ú	כ�t�ëß�,�íl��̧|	��Ér:�x8£¤_�Ø�¦½̈�:r�̧

T1s� ÷&�¦ þj7áx�̧|	��Ér :�x8£¤_� {9�§4� �:r�̧ T2�� �)a��. s��Qô�Ç �â
Äº\� d�� (6.64)ü< (6.67)_�

���wn�~½Ó&ñ
d���Ér ¥̧>h����â
>�ë�H]j���)a��.s�ë�H]j\�¦Û�¦l�0AK�"f��H:�x8£¤_�Ø�¦½̈�:r�̧ T1�̀¦

��&ñ

��¦ &h�ì�r�̀¦ ���'��
�#� "é¶
���H \P� �§8̈�l� U�́s�\�"f {9�½̈ �:r�̧ T2\�¦ ���&ñ
K��� ô�Ç��.

2&h� �â
>�u� ë�H]j_� K�ZO��Ér ë�H]j 3.6\� �7H_�
�%i���.

9.4 B� (V�ò5Ñ�æ·)

Óütõ� ���×þ��)a ���Ér Ä»�̂[þt_� Óüt$í
[þt�Ér ÂÒ2�¤ E\�"f ¹1Ô�̀¦ Ãº e����. s� Óüt$í
[þt�Ér ë�H]j 2.3õ�

5.5\�"f ]jîß��)a l�ZO��̀¦ &h�6 x
�#� �:r�̧ ◦F_� �<ÊÃº�Ð ����è­q Ãº e����.

"bv² ���¢4 �¡T]<J N�~×� MATLAB 3̀��'� �ûY"eכ�� TABLE ���Ý�~²��Ìø e02.matª�v²

� �b$\ AUe��.
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V� 10 â�
 í5�á~
l� ò5ÑÛÖS �ßjæ«Uc"� 7�ÇÚUc �+ø5� á~
 Õiµ��


10.1 5���� à�
ÃZ�

ÅÒ0A�Ð @/ÀÓ\� _�
�#� \P�s� �<Hz�́÷&��H éß�\P�s� îß��)a ú̧� �D¥½+Ë�)a ×��ß¼_� �:r�̧ >�íß�

10.2 ��£� ÛÖS ÊÁn�B�ß��

q����+þA @/Ãº ~½Ó&ñ
d��õ� �ª��<ÊÃº&h� @/Ãº ~½Ó&ñ
d��[þt_� K�ZO�

10.3 %K�V� à�
ÃZ�

Í�ty��Ãº�� Q = 0.5m3/h_� 5Åq�̧�Ð T = 80◦C_� �:r�̧�Ð C�Ø�¦�)a��. Óüt�Ér t�2£§s� D = 1ms�

�¦ Z�}s��� H = 2m��� "é¶:�x+þA ×��ß¼�Ð �̧#������. ×��ß¼_� ?/6 xÓüt�Ér ú̧� �D¥½+Ë÷&�¦ ÅÒ0A /BNl�

�Ð_� \P� �<Hz�́�Ér �̧¿º ����� @/ÀÓ\� _�ô�Ç �¦����s	כ ��&ñ
|̈c Ãº e����. Óüt�Ér [þt#Q�̧��H 5Åq�̧ü<

°ú �Ér 5Åq�̧�Ð ×��ß¼ µ1ÚÜ¼�Ð C�Ø�¦�)a��. ×��ß¼ ü@#4�_� �:r�̧��H ×��ß¼_� �:r�̧ü< °ú ���¦ �̂¦ Ãº e��

�¦, ×��ß¼_� 
�ÂÒ��H ��ÅÒ ú̧� éß�\P�÷&#Q e����. @/l�·ú� 
�\�"f #��Q �:r�̧\� @/ô�Ç /BNl�_� Óüt$í


[þt�Ér ÂÒ2�¤ E_� ³ð E.1\� ÅÒ#Q4R e����.

(a) ÅÒ0A_� &ñ
�̂ /BNl�_� �:r�̧�� -10, 15, 40oC��� �â
Äº\� ×��ß¼�ÐÂÒ'�_� \P����²ú�\� _�ô�Ç \�

�-t� �<Hz�́(W)õ� ×��ß¼ ?/_� Óüt_� �:r�̧(◦C)\�¦ >�íß�
���.

(b) Û�æ5Åqs� 30mph��� ��|ÃÐ ÂÒ��H �̧|	�_� �â
Äº\� (a)\�¦ ��r� Û�¦��.

ÉÙ���\�ê�> Ça��× ��� PLl�'a

��¥o>7�ÇÚ &ñ
�̂ �̧|	�\�"f�À»���Ü¼�ÐÂÒ'�_������@/ÀÓ\�@/K�"f��H��6£§õ�°ú �Ér�©��'ad��[þts�

æ¼�����(Geankoplis [1] �ÃÐ�̧):

Nu = 0.54Ra1/4 for 105 < Ra < 2× 107

Nu = 0.14Ra1/3 for 2× 107 < Ra < 3× 1010 (6.68)
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#�l�"f

Nu =
hL

k
(Nusselt no.)

Ra = GrPr (Rayleigh no.)

Gr =
βgρ2L3∆T

µ2
(Grashof no.)

Pr =
µCP

k
(Prandtl no.)

s���. ·ú¡_� d��\�"f, h��H \P����²ú� >�Ãº(W/m2 · K), L�Ér :£¤$í
 U�́s�(m), k��H /BNl�_� \P� ����̧

�̧(W/m · K), β��H /BNl�_� \P� Ø���½Ó >�Ãº(1/K), g��H 9.80665m/s2Ü¼�Ð ÅÒ#Qt���H ×�æ§4� ��5Åq

�̧, ρ��H /BNl�_� x9��̧(kg/m3), ∆T��H ×��ß¼ #4�õ� /BNl� ��s�_� �:r�̧	�_� �ª�_� °úכ(K), µ��H /BN

l�_� &h��̧(kg/m · s), Cp��H /BNl�_� \P�6 x|¾Ó(J/kg ·K)s���. s� ë�H]j\�"f��H t�2£§_� D��� �À»���

_� ���&h�õ� ��y��+þA��� \P����_� ���&h�s� °ú Ü¼Ù¼�Ð L = 0.8862Ds���.

V,��Ér #3�0A_� Ra_� ����2; �����@/ÀÓ\� @/ô�Ç ��6£§õ� °ú �Ér Churchillõ� Chu_� �©��'ad��s�

"é¶:�x+þA ×��ß¼_� Ãºf�����\� @/
�#� ��6 x|̈c Ãº e���� [?].

Nu =

(
0.825 +

0.387Ra1/6

[1 + (0.492/Pr)9/16]8/27

)2

(6.69)

d�� (6.68)õ� (6.69)\�"f /BNl�_� Óüt$í
�Ér ��6£§õ� °ú �Ér �â
}���:r�̧ Tf\�"f >�íß�÷&#Q�� ô�Ç

��.

Tf =
T + Tair

2
(6.70)

"�×V� 7�ÇÚ y©�]j @/ÀÓ\� @/ô�Ç \P����²ú� >�Ãº��H "é¶:�x_� �À»���õ� Ãºf�����\� @/
�#� ��6£§õ� °ú 

�Ér d���̀¦ ��6 x
�#� ��H���)a��.

Nu = 0.0336Re0.8
L Pr1/3 (6.71)

#�l�"f Reynolds Ãº��H ReL = (Lvρ)/µ�Ð &ñ
_��)a��. "é¶:�x �À»���_� "é¶+þA î̈
óøÍ_� :£¤$í
 U�́s�

��H L = 0.8862D�Ð ÆÒíß�÷&��H ìøÍ���, "é¶+þA ×��ß¼_� \P����Ü¼�ÐÂÒ'�_� @/ÀÓ\�"f��H L = Ds���.

v��H Û�æ5Åq(m/s)�Ð &ñ
_��)a��. d�� (6.71)\�"f /BNl�_� Óüt$í
�Ér d�� (6.70)\�"f ÅÒ#Qt���H �â
}�� �:r

�̧\�"f >�íß��)a��.
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10.4 B�(V�ò5Ñ�æ·)

×��ß¼ ?/6 xÓüt\� @/ô�Ç �'p»1Ïx� Ãºt�d���Ér ��6£§õ� °ú >� �)a��.

QρwCpw(80− T ) = h1A1(T − Tair) + h2(T − Tair) (6.72)

#�l�"f ρw��H Óüt_� x9��̧, Cpw��H Óüt_� \P�6 x|¾Ó, T��H ×��ß¼ Ø�¦½̈\�"f_� �:r�̧, h1�Ér Ãºî̈
 \P����

²ú� >�Ãº, A1�Ér Ãºî̈
 \P����²ú� ���&h�, h2�Ér Ãºf�� \P����²ú� >�Ãº, A2�Ér Ãºf�� \P����²ú� ���&h�s���. /BN

l�_� Óüt$í
[þt�Ér ³ð E-1\� 2�©�\�"f ��ÀÒ%3�~�� l�ZO��̀¦ &h�6 x
�#� �:r�̧_� �<ÊÃº�Ð ����è­q Ãº e��

��.

(a) Ça�W� �e«כ� s� ë�H]j_� K���H ��H d�� (6.70)�̀¦ ��6 x
�#� d�� (6.68)õ� (6.69)\�"f >�íß�÷&��H

h1õ� h2_� &h�&h�ô�Ç °ú̀�כ¦ ��6 x
�#� q����+þA ~½Ó&ñ
d����� (6.72)\�¦ Û�¦��� %3��̀¦ Ãº e����.

(b) ��·ÇÔl� ÉÙÐM� ¿R�ËÁ s� �â
Äº\� @/ô�Ç &h�]X�ô�Ç Reynolds Ãº\�¦ >�íß�
�#� d�� (6.71)�ÐÂÒ'�

h1õ� h2\�¦ ½̈½+É Ãº e����.

èû���<J N�~×� MATLAB 3̀��'� �ûY"eכ�� TABLE ���Ý�~²��Ìø e01.matv² � �b$\ AUe��.
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V� 11 â�
 N²åÖR� ÷5�ãÃ�×�+ j�Ça�(�×(�×@� ¡�́��

11.1 5���� à�
ÃZ�

\P� ����̧�̧�� ��ÅÒ &�"f Óüt�̂ ?/ÂÒ_� �:r�̧\�¦ {9�&ñ

����¦ ��&ñ
½+É Ãº e����H Óüt�̂�Ð_� 4�¤�� \P�

���²ú�õ� �:r�̧ü< \P�5Åq_� q�&ñ
�©��©�I� x9� &ñ
�©��©�I� ��1lx ���&ñ
.

11.2 ��£� ÛÖS ÊÁn�B�ß��

�©�p�ì�r ~½Ó&ñ
d��_� K�ZO�

11.3 %K�V� à�
ÃZ�

#Q�"�r�çß�ÅÒl�1lxîß��¦�:r���/BN�Ð\�"f·ûª�Ér�FK5ÅqóøÍs�\P�%�o�|̈c�s���.�FK5ÅqóøÍ�Ér	כ 0.5m×
0.5ms��¦ ¿ºa���H 0.0015ms���. óøÍ_� �íl� �:r�̧��H 20◦Cs��¦, �̧_� �:r�̧��H1000◦Cs���. óøÍ

�Ér �̧ ?/ÂÒ\� B�²ú��9 e���¦, ����"f �̧#4�Ü¼�ÐÂÒ'�_� 4�¤��\� _�
�#� óøÍ_� �ª�Aá¤ ���s� /åL���y�

��\P��)a��. �̧#4�õ� óøÍ_� ³ð����Ér 4�¤��\� @/
�#� <ÉÊ�̂�Ð ��&ñ
�)a��.

Óüt$í
[þts� ³ð 6.4\� Q#&÷���¹כ e���¦ s� Óüt$í
[þt�Ér �:r�̧_� ����o\� @/
�#� {9�&ñ

����¦ ��&ñ


÷&��H �FK5Åq ×�æ_� 
���\�¦ ���×þ�
���.

(a) &ñ
�©��©�I�\� s�\�¦ M:��t� r�çß�_� �<ÊÃº�Ð óøÍ_� �:r�̧\�¦ �̧r�
���

(b ) &ñ
�©��©�I�\� s�\�¦ M:��t� r�çß�_� �<ÊÃº�Ð \P�5Åq�̀¦ �̧r�
���

(c) óøÍ_� �:r�̧�� ����o��0pxô�Ç �:r�̧_� 99%\� s��Ér M:�Ð &ñ
_�÷&��H &ñ
�©��©�I�\� �̧²ú�
���H

r�çß��Ér ���]j�����?

ÉÙ���\�ê�> Ça��× ��� PLl�'a

s� ë�H]j��H �̧#4�õ� �FK5ÅqóøÍ ��s�_� 4�¤���� ·ûª�Ér �FK5ÅqóøÍ�̀¦ ��\P�
���H q�&ñ
�©��©�I� ë�H]j

s���. ëß���� �FK5Åq óøÍs� ¿º,������ \P� ����̧�̧�� ��������, �FK5Åq óøÍ ���̂\�"f_� �:r�̧_� ����o��

e���̀¦ Ãº e����. \P� ����̧�̧�� 	�H ·ûª�Ér óøÍ_� �â
Äº\���H ����̧�� �FK5ÅqóøÍ ?/\�"f /åL5Åqy� ���'��÷&

#Q �:r�̧�� �FK5ÅqóøÍ ?/\�"f {9�&ñ

�����H ��Ér	כ a%~�Ér ��&ñ
s���.
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r�çß� 7£xì�r ∆t1lxîß�\� �FK5Åq óøÍ\� @/ô�Ç éß�í�H q�&ñ
�©��©�I� \��-t� Ãºt�d���Ér ��6£§õ� °ú 

>� �)a��.

³ð 6.4: ���×þ��)a �FK5Åq_� Óüt$í
(Thomas [?]\�"f µ1ÏLY)

Density Heat Capacity

ρ Cp

Metal kg/m3 kJ/kg ·K
Copper 8950 0.383

Iron 7870 0.452

Nickel 8900 0.446

Silver 10500 0.234

Stainless Steel 8238 0.468

Steel (1% C) 7801 0.473

Zirconium 6750 0.272

{9�§4� + Òqt$í
 = Ø�¦§4� + »¡¤&h�

σApF12(T 4
F − T 4)∆t + 0 = 0 + VpρCp(T |t+∆t − T |t) (6.73)

#�l�"f σ��H 5.676×10−8W/m2 ·K4Ü¼�ÐÅÒ#Qt���H Stefan-Boltzmann�©�Ãºs��¦, Ap��HóøÍ_�

�ª����_� ���&h�(m2), Vp��H óøÍ_� ÂÒx�(m3), F12��H 1�Ð ��&ñ
÷&��H �'a8£¤�����(view factor), TF��H

�̧_� �:r�̧(K)s���. ∆t\�¦ 0Ü¼�Ð �Ð?/��H �FGô�Ç�̀¦ 2[
��¦ &ñ
o�
���� d�� (6.73)�Ér ��6£§õ� °ú �Ér

�©�p�ì�r ~½Ó&ñ
d��s� �)a��.
dT

dt
=

σApF12(T 4
F − T 4)

VP ρCp
(6.74)

#�l�"f �FK5Åq_� Óüt$í
�Ér {9�&ñ

����¦ ��&ñ
ô�Ç��.

\P�5Åq(W/m2) Q��H ��6£§õ� °ú s� ÅÒ#Q�����.

Q = σF12(T 4
F − T 4) (6.75)
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V� 12 â�
 ð5� ÈÁø5� Ë̂�÷5�Uc"��+ j�Ça�(�×(�×@� ¦�>�¿

12.1 5���� à�
ÃZ�

r�çß�\� ���� ���
���H �â
>��̧|	�
�\�"f Óüt$í
s� {9�&ñ
ô�Ç 1	�"é¶ ìøÍ Áºô�Ç î̈
óøÍ\�"f_� q�&ñ
�©��©�

I� \P� ����̧

12.2 ��£� ÛÖS ÊÁn�B�ß��

¼#�p�ì�r ~½Ó&ñ
d���̀¦ Û�¦l�0Aô�Ç Ãºu�&h� f�����ç�H ZO�, �ª��<ÊÃº&h� @/Ãº ~½Ó&ñ
d��õ� ���½+Ë�)a ���wn� �©�p�

ì�r ~½Ó&ñ
d��_� K�ZO�

12.3 %K�V� à�
ÃZ�

Óüt$í
s� {9�&ñ
ô�Ç �â
Äº\� 1	�"é¶ q�&ñ
�©��©�I� \P� ����̧��H ��6£§õ� °ú �Ér ¼#�p�ì�r ~½Ó&ñ
d��Ü¼�Ð l�Õüt

�)a��.
∂T

∂t
= α

∂2T

∂x2
(6.76)

s� d���Ér s�p� ë�H]j 3.9\�"f �7H_�÷&%3���. s�ü< °ú �Ér +þAI�_� \P����²ú�_� <Éªp�e����H &h�6 x�Ér

Thomas [?]\�"f ��ÀÒ#Q��� #��Q U�·s�\�"f_� �Ð�ª�_� �:r�̧s���. �Ð�ª� ³ð��� �:r�̧_� ���×�æ ���

�oü< s� �:r�̧�� \P� ����̧\�¦ :�x
�#� �Ð�ª� U�·s�\� ���Ér �:r�̧\� #Q�"� %ò
�¾Ó�̀¦ ÅÒ��Ht�\�¦ �¦�9
�

��. Thomas\� _�
�#�◦F�Ð ÅÒ#Q��� #Q�"� :£¤&ñ
ô�Ç K�\� �Ð�ª�_� ³ð��� �:r�̧��H ��6£§õ� °ú ��.

Ts(t) = TM −∆Ts cos
[
2π

τ
(t− t0)

]
(6.77)

#�l�"f t��H ���×�æ ±ú� Ãº, TM�Ér ���×�æ î̈
ç�H @/l��:r�̧(◦F), ∆Ts��H ���×�æ �Ð�ª� î̈
ç�H �:r�̧_� ���

�o, τ��H 365{9���� ÅÒl�, t0��H ±ú� éß�0A_� 0A�©� �©�Ãºs���. #��Q 0Au�\� ���Ér B�>h����� °úכ[þt�̀¦

%3��̀¦ Ãº e���¦, @/³ð&h���� °úכs� ³ð 6.5\� &ñ
o�÷&#Q e����.

d�� (6.73)\� ³ð 6.5\� ÅÒ#Q��� X<s�'�\�¦ ��6 x
�#� %3��Ér r�
��¦\� @/ô�Ç ���×�æ(0 ≤ t ≤
365) �Ð�ª� î̈
ç�H �:r�̧_� ����o�� ÕªaË> 6.16\� ÅÒ#Q4R e����.



]j 12 ]X� ìøÍ Áºô�Ç î̈
óøÍ\�"f_� q�&ñ
�©��©�I� ����̧ 43

³ð 6.5: p�²DG?/ Y>� Y>� �̧r�[þt\� @/ô�Ç �Ð�ª� �:r�̧ B�>h�����

TM ∆Ts t0

City (◦F) (◦F) days

Bismarck, ND 44 31 33

Burlington, VT 46 26 37

Chicago, IL 51 25 37

Las Vegas, NV 69 23 32

Phoenix, AZ 73 23 33

(Thomas [?]\�"f µ1ÏLY)
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ÕªaË> 6.16: r�
��¦_� ���×�æ �Ð�ª� ³ð��� �:r�̧_� ����o

³ð 6.5\� �Ð�ª� �:r�̧ X<s�'��� ÅÒ#Q��� �̧r�×�æ 
���\�¦ ×þ�
���. �Ð�ª�_� \P�SX�íß� >�Ãº��H

α = 0.9ft2/day�Ð {9�&ñ

����¦ ��&ñ

���.
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(a) d�� (6.77)_� ³ð��� �:r�̧\�¦ �â
>��̧|	�Ü¼�Ð ��6 x
�#� t�³ð���Ü¼�ÐÂÒ'� ���ª�ô�Ç 0Au�\�"f

_� �:r�̧\� �'aô�Ç d�� (6.76)�̀¦ Û�¦l�0A
�#� Ãºu�&h� f�����ç�HZO��̀¦ &h�6 x
���. 4�̧�\� ���5g"f

8, 16, 24, 72ft\� K�{©�
���H x\�"f_� �:r�̧\�¦ �̧r�
���. �íl� simulation\�"f��H 8ft_�

ç�H{9� çß����Ü¼�Ð 10>h_� ½̈çß�õ� 11>h_� node\�¦ ��6 x
���H ��s	כ Ø�æì�r
����¦ ]jîß�÷&%3�

��. �íl��̧|	��Ér ���î̈
ç�H t�½̈_� �:r�̧ TMÜ¼�Ð ]jîß�÷&%3���.

(b) (a)\�"f ��6 xô�Ç ½̈çß� çß����s� &h�]X�
�����H �¦̀�	כ ½̈çß�_� Ãº\�¦ ¿ºC��Ð 
��¦ ½̈çß� çß����

�̀¦ ìøÍÜ¼�Ð
�#� >�íß�
�#�"f {9�7£x
���. ���õ�\�¦ (a)_� ���õ�ü< q��§
���.

(c) �=�Ð�ª�³ð���õ� t�
�\�"f_��:r�̧ ��s�\���H0A�©�	���Òqtl���H��?s� ò́õ�\�¦�Ð#�ÅÒ��H

ÕªaË>�̀¦ Õª�9��. Õªo��¦ �= s� ë�H]j\� @/K�"f��H Ãº�̧�\� ����2; K��� ��|ÃÐf��ô�Ç��\�¦ �Ð

#���.

12.4 B�(V�ò5Ñ�æ·)

(a) ÿ? (b) Ãºu�&h� f�����ç�HZO��Ér ë�H]j 3.9\�"f �7H_�÷&%3��¦, ìøÍÁºô�Ç Ä»�̂\� @/K�"f��H ë�H]j

5.17\�"f &h�6 x÷&%3���. s�ü< °ú �Ér ë�H]j\�"f K�\�¦ %3�l� 0AK�"f��H #��Q nodeÃºü< ½̈çß� çß����

[þt\� @/ô�Ç e��r�K�\�¦ %3�#Q�Ð��H ��s	כ ��|ÃÐf��
���. ìøÍ Áºô�Ç î̈
óøÍ\� @/
�#� s�ü< °ú �Ér e��r�K�

\�¦ %3�#Q�Ð��H 3lq&h��Ér (s� �â
Äº\���H 	�H x���) þj@/ U�·s�\�"f ���Ãº�� r�çß�\� @/
�#� �&³$�
�>�

���
�t� ·ú§�̧2�¤ 
���H �.���s	כ ����"f ����̂ ½̈çß�\� @/
�#� nodeÃº\�¦ 7£x��r�&�y��\� ���� K�

�� nodeÃº\� ß¼>� _��>r
�t� ·ú§�̧2�¤ nodeÃº\�¦ �̧]X�ô�Ç��.

MATLAB_� �©�p�ì�r ~½Ó&ñ
d�� K�ZO�s� nodeÃºü< nodeçß�_� çß�����̀¦ �̧]X�
���H õ�&ñ
\� ��

6 x|̈c Ãº e����. ~½Ó&ñ
d���̀¦ 4�¤��
���H 0px§4��Ér y�� node\� @/ô�Ç Ä»ô�Ç 	�ì�rd���̀¦ æ¼��HX< ��ÅÒ Ä»

6 x
���. &ñ
SX�ô�Ç K�\�¦ %3�l�0AK�"f��H ú́§�Ér Ãº_� p�ì�r ~½Ó&ñ
d���̀¦ Û�¦#Q�� 
���H �â
Äº�̧ e����.
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V� 13 â�
 ËÂø5�ø5� ÊÁ�¿Uc"� �§W� Ä©�+ �ÆjḈÐ

13.1 5���� à�
ÃZ�

|9�×�æ>� x9� ì�ríß�>� K�$3��̀¦ :�xô�Ç \P����²ú� K�$3�. ½̈?/_� q�&ñ
�©� �©�I� ����̧\� @/ô�Ç |9�×�æ>� x9�

ì�ríß�>� �̧4Sq Ãºd���oü< Ãº�̧\� @/ô�Ç |9�×�æ>� �̧4Sq Ãºd���o

13.2 ��£� ÛÖS ÊÁn�B�ß��

Ãºu�&h� f�����ç�H ZO�\� _�ô�Ç ¼#�p�ì�r ~½Ó&ñ
d��_� K�ü< ���wn� �©�p�ì�r ~½Ó&ñ
d��_� K�

13.3 %K�V� à�
ÃZ�

�FK5Åq ��/BN �r����H #��Q �FK5ÅqÜ¼�Ð ëß���H ç�H{9�ô�Ç t�2£§_� ½̈_� /åL���ô�Ç Í�ty���̀¦ .��ô�Ç̈½¹כ s��Q

ô�Ç Í�ty���̀¦ 
�l� 0A
�#� �¦�:r �©�I�\�"f ]j�̧�)a >hZ>� ½̈\�¦ ú̧� �D¥½+Ë�)a Ãº�̧\� ��ä¼�2;��. Õª

aË> 6.17\� s��Qô�Ç �̧���s� çß�|ÄÌy� Õª�94R e����.

(a) ½̈ ?/_� ����̧�� B�Äº À1Ï��"f ½̈��H Í�ty��÷&��H 1lxîß� ç�H{9�ô�Ç �:r�̧\�¦ Ä»t�ô�Ç����H |9�×�æ>�

K�$3��̀¦ �¦�9ô�Ç��. ½̈_� t�2£§�Ér D = 0.1m, \P� ����̧�̧��H k = 10W/m ·◦ C�Ð {9�&ñ

�

�¦, x9��̧��H ρ = 8200kg/m3, \P� 6 x|¾Ó�Ér Cp = 0.41kJ/kg · Ks���. ½̈ü< Ãº�̧_� ��s�

_� \P����²ú� >�Ãº��H h = 220W/m2s���. ½̈_� �íl� �:r�̧��H 300◦Cs��¦, Ãº�̧��H �íl�\�

20◦C\� e��%3���. Ãº�̧��H {9�&ñ
ô�Ç �:r�̧\�¦ Ä»t�ô�Ç���¦ ��&ñ

��¦ Ãº�̧�Ð [þt#Q��l� �����

t�_� \P����²ú��Ér Áºr�
���. &ñ
�©��©�I���t�_� r�çß�_� �<ÊÃº�Ð ½̈_� �:r�̧ Tü< \P����²ú� 5Åq

�̧ q\�¦ �̧r�
���.

(b) ½̈ ?/_� ����̧\�¦ �¦�9
�#� (a)\�¦ ��r� Û�¦��. &ñ
�©��©�I�\� �̧²ú�½+É M:��t� r�çß�_� �<ÊÃº

�Ð ìøÍt�2£§s� 0m, 0.05m x9� 0.1m\�"f_� �:r�̧\�¦ �̧r�
���.

(c) Ãº�̧\�¦r�çß�_��<ÊÃº�Ð��\P�
���H�â
Äº\� (b)\�¦��r�Û�¦��.Ãº�̧_�ÂÒx���H V = 0.1m3s�

�¦ Óüt_� Óüt$í
�Ér x9��̧�� ρW = 965kg/m3, \P� 6 x|¾Ós� CpW = 4.199kJ/kg · K�Ð {9�&ñ


����¦ ��&ñ
ô�Ç��. &ñ
�©��©�I�\� �̧²ú�½+É M:��t� r�çß�_� �<ÊÃº�Ð TW x9� ìøÍt�2£§s� 0m,

0.05m x9� 0.1m\�"f_� �:r�̧\�¦ �̧r�
���.
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13.4 (ÉÙ&P�) B�

s� ë�H]j��H ½̈�� Óüt�Ð [þt#Q�����"f ½̈�� Í�ty��÷&��H q�&ñ
�©� �©�I� ë�H]js���. ëß���� ½̈_� \P� ���

�̧�̧�� B�Äº ß¼���� ½̈_� t�2£§s� ����Ér �â
Äº ¢̧��H s� ¿º��t� �̧|	�s� �̧¿º ëß�7á¤÷&��H �â
Äº

½̈ ?/_� ����̧��H B�Äº ��ØÔ>� |̈c �.���s	כ Ãº�̧��H Í�ty��÷&��H ½̈�ÐÂÒ'� ���²ú��)a \��-t�\� _�
�

#� ��\P��)a��.

V = volume of bath in m3

T = temperature of 
       water bath in C

w
o

T = temperature of sphere's surfaces

T = temperature in differential element 
q| = heat rate in radius r r
q|     = heat rate in radius r+  r r+  r∆

∆

h = convective heat transfer coefficient 
      at sphere's surface

∆r

r

R1

q|r

TS

q|r+  r∆

T

WT

Enlarged View of Solid Sphere 
in Water Bath Showing
Differential Element

ÕªaË> 6.17: Ãº�̧\�"f ½̈+þA �¦�̂_� Í�ty��

(a) |9�×�æ>� K�$3��Ér �̧��H r�çß�\� ���5g"f ½̈ ?/_� �:r�̧�� {9�&ñ

����¦ ��&ñ
÷&��H ½̈ ����̂\�

����2; {9�ìøÍ&h���� q�&ñ
�©� �©�I� \��-t� Ãºt�d���̀¦ [jî�r��. s� �â
Äº\� ½̈�Ð_� \P� {9�§4��Ér \O��¦

½̈?/_� \P� µ1ÏÒqt�̧ \O���. Ø�¦§4��Ér Ãº�̧�Ð_� \P����²ú��̀¦ :�xK� s�ÀÒ#Q t��¦, »¡¤&h��Ér ½̈?/_� \�

�-t� ����oü< ����'a÷&#Q e����. ����"f ∆t\� ����2; q�&ñ
�©� �©�I� Ãºt�d���Ér ��6£§õ� °ú s� �)a��.

{9�§4� + Òqt$í
 = Ø�¦§4� + »¡¤&h�

0 + 0 = h(4πR2
1)(T − TW )∆t +

(
4πR3

1

3

)
ρCp(T |t+∆t − T |t) (6.78)

∆t\�¦ 0Ü¼�Ð �Ð?/��H �FGô�Ç�̀¦ 2[ô�Ç Êê &ñ
o�
���� ��6£§õ� °ú �Ér d���̀¦ %3��̀¦ Ãº e����.

dT

dt
=
−h(4πR2

1)(T − TW )(
4πR3

1
3

)
ρCp

=
−3h(T − TW )

R1ρCp
(6.79)
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#�l�"f �íl��̧|	��Ér t = 0\�"f T = 300oCs���. ½̈�ÐÂÒ'�_� \P��<Hz�́ 5Åq�̧��H ��6£§õ� °ú s� >�

íß��)a��.

q = h(4πR2
1)(T − TW ) (6.80)

s���H d�� (6.78)_� Ø�¦§4��½Ó\� K�{©�ô�Ç��.

(b) ½̈ ?/\�"f_� \P� ����̧��H ÕªaË> 6.17\�"f �Ðs���H ��ü< °ú s� r�çß� 7£xì�r ∆t 1lxîß�\� ���5g

"f ìøÍt�2£§_� 7£xì�r ∆r_� p�ì�r �\¹�èכ @/ô�Ç q�&ñ
�©� �©�I� \��-t� Ãºt�d��Ü¼�Ð l�Õüt�)a��.

{9�§4� + Òqt$í
 = Ø�¦§4� + »¡¤&h�

q|r ∆t + 0 = q|r+∆r ∆t + 4πr2∆rρCp(T |t+∆t − T |t) (6.81)

∆tü< ∆rs� 0Ü¼�Ð ����H �FGô�Ç�̀¦ 2[
��¦ &ñ
o�
���� ��6£§õ� °ú �Ér d���̀¦ %3��̀¦ Ãº e����.

∂T

∂t
= −

(
1

4πr2ρcp

)
∂q

∂r
(6.82)

��6£§õ� °ú s� ³ð�&³÷&��H Fourier ZO�gË:�̀¦

q = −k4πr2 ∂T

∂r
(6.83)

d�� (6.82)\� @/{9�
�#� ��6£§õ� °ú �Ér 2>� ¼#�p�ì�r ~½Ó&ñ
d���̀¦ %3���H��.

∂T

∂t
=

1
r2ρcp

∂

∂r

(
kr2 ∂T

∂r

)
(6.84)

ëß���� \P� ����̧�̧ k�� {9�&ñ

������, ·ú¡_� d��_� Äº���\�"f k\�¦ µ1ÚÜ¼�Ð NSè­q Ãº e����.

d�� (6.84)_�Ãºu�K�\�¦%3���H���©�¼#�ô�Ç~½ÓZO��Érë�H]j 3.9\�"f�7H_��)aÃºu�&h�f�����ç�HZO�(method

of lines)s���. d�� (6.84)_� 2>� ¼#�p�~½Ó�̀¦ f��]X� ÉÒ��H @/���\� d�� (6.84)\� s�ØÔ>�ô�Ç ¿º d��, d��

(6.82)ü< (6.83)�̀¦ ÉÒ��H ��s	כ ¼#�o�
���. s� ¿º d���Ér ∂q/∂rü< ∂T/∂r�̀¦ Ä»ô�Ç	�ì�rZO�Ü¼�Ð ��H

��
��¦, ∂T/∂t\� @/ô�Ç {9�º��_� �̧�<ÊÃº\�¦ ��6 x
�#� Û�¦�9�����. K�ZO��Ér ÕªaË> 6.18\� �Ðs���H

��ü< °ú s� 10>h_� ìøÍt�2£§ ½̈çß�\� @/ô�Ç 11>h_� �̧×¼\�¦ @/�©�Ü¼�Ð
�#� [O�"î
�)a��. ÂÒ2�¤ A_�

d�� (A.6)Ü¼�Ð ÅÒ#Qt���H 2	� ×�æ�©� 	�ì�rd���̀¦ ��6 x
�#� r\� @/ô�Ç 1>� �̧�<ÊÃº[þt�̀¦ ��6£§õ� °ú 

s� �����·p��.
∂qn

∂r
=

(qn+1 − qn−1)
2∆r

for (2 ≤ n ≤ 10) (6.85)
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Sphere Center Sphere Surface

T1 T2 T3 T4 T5 T6 T7 T8 T9 T10 T11

TW

ÕªaË> 6.18: Ãºu�&h� f�����ç�H ZO��̀¦ 0Aô�Ç ½̈ ?/ÂÒ_� �̧×¼[þt

∂Tn

∂r
=

(Tn+1 − Tn−1)
2∆r

for (2 ≤ n ≤ 10) (6.86)

����"f y�� ?/ÂÒ �̧×¼\�"f d�� (6.85)\�¦ d�� (6.82)\� &h�6 x
���� ��6£§õ� °ú �Ér ���õ�\�¦ %3���H��.

dTn

dt
= − 1

4πr2
nρCp

(
qn+1 − qn−1

2∆r

)
for (2 ≤ n ≤ 10) (6.87)

d�� (6.83)_� Fourier ZO�gË:�Ér d�� (6.86)�̀¦ y�� ?/ÂÒ �̧×¼\� s�6 x
���� ��6£§õ� °ú s� jþt Ãº e��

��.

qn = −k4πr2
n

(
Tn+1 − Tn−1

2∆r

)
for (2 ≤ n ≤ 10) (6.88)

·ú¡_� d��\�"f e��_��Ð 11>h_� �̧×¼\�¦ ��6 x
���H ��Ér	כ ∆r = R1/10s��¦ :£¤&ñ
 �̧×¼\�"f_� ìøÍ

t�2£§�Ér rn = 0.1R1(n− 1)Ü¼�Ð ÅÒ#Q�������H �¦̀�	כ _�p�ô�Ç��.

Ä©�+ Ø̧¢�>Uc"��+ ¿R�N��¿�
> ½̈_� ³ð���\�"f_� r~½Ó�¾Ó_� \��-t� Ãºt�d���Ér ½̈ ?/ÂÒ\�"f ���

�̧\� _�ô�Ç ³ð���Ü¼�Ð_� \P����²ú� 5Åq�̧��H @/ÀÓ\� _�
�#� ½̈ ³ð���\�"f Ãº�̧�Ð_� \P����²ú� 5Åq�̧

ü< °ú ����H �¦̀�	כ �����·p��.

−k
∂T

∂r

∣∣∣∣
r=R1

= h(T11 − TW ) (6.89)

d�� (A.7)�Ð ÅÒ#Qt���H 2	� Êê~½Ó Ä»ô�Ç 	�ì�rd��s� ¼#��̧�<ÊÃº ∂T
∂r

∣∣
r=R1

@/
�#� ��6 x÷&#Q ��6£§õ�

°ú �Ér ���õ�\�¦ ï�r��.

−k

(
3T11 − 4T10 + T9

2∆r

)
= h(T11 − TW ) (6.90)

d�� (6.90)�Ér T11\� @/
�#� ��6£§õ� °ú s� Û�¦�9t��¦,

T11 =
2∆rhTW − 4kT10 + kT9

2∆rh− 3k
(6.91)

s�\� K�{©�
���H \P����²ú� 5Åq�̧��H 11���P: �̧×¼\�"f ��6£§õ� °ú s� ÅÒ#Q�����.

q11 = h(4πR2
1)(T11− TW ) (6.92)
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Ä©�+ 
ä»ÐÏ�Uc"��+ ¿R�N��¿�
> ½̈_� ×�æd��\�"f \P����²ú� 5Åq�̧��H 0s��¦, ����"f

q|r=0 = q1 = 0 (6.93)

s��¦, Fourier ZO�gË:Ü¼�ÐÂÒ'� ��6£§ �'a>��� $í
wn�ô�Ç��.

∂T

∂r

∣∣∣∣
r=0

= 0 (6.94)

ÂÒ2�¤ A_� d��(A.5)\�"f ÅÒ#Qt���H 2	� ���~½Ó 	�ì�rd���̀¦ ·ú¡_� d��\� &h�6 x
���� ��6£§õ� °ú �Ér ���

õ�\�¦ %3��̀¦ Ãº e���¦,
∂T1

∂r
=

(−T3 + 4T2 − 3T1)
2∆r

(6.95)

e��_�_� r�çß�\�"f_� T1�Ér ��6£§õ� °ú s� ���&ñ
|̈c Ãº e����.

T1 =
4T2 − T3

3
(6.96)

ÊÁn�B� Ãºu�K�\�¦%3�l�0AK�"f��Hd�� (6.91)õ� (6.92)�ÐÅÒ#Qt���H ½̈ ³ð���\�"f_��â
>��̧|	�õ�

d�� (6.93)õ� (6.96)Ü¼�ÐÅÒ#Qt���H ½̈×�æd��\�"f_��â
>��̧|	��̀¦ëß�7á¤
���Hd�� (6.87)õ� (6.88)\�¦

1lxr�\� Ãºu�&h�Ü¼�Ð Û�¦#Q�� ô�Ç��. �íl�\� ½̈ ����̂\�"f_� �:r�̧��H 300oCs��¦, ½̈�Ð ÂÒ'�_�

Ø�¦§4� \P����²ú� 5Åq�̧��H q11Ü¼�Ð ÅÒ#Q�����.

(c) ��\P�÷&��H Ãº�̧\� @/ô�Ç l�Õüt�Ér ×��ß¼?/_� ú̧� �D¥½+Ë�)a Óüt\� @/ô�Ç q�&ñ
�©��©�I� \��-t� Ãº

t�\�¦ .��ô�Ç̈½¹כ ×��ß¼��H éß�\P�÷&%3����¦ ��&ñ
÷&�¦, \P����²ú��Ér Í�ty�� ÷&��H ½̈�Ð ÂÒ'�ëß� {9�#Qèß�

��. ����"f ∆t_� r�çß� çß����\�"f q�&ñ
�©��©�I� Ãºt�d���Ér ��6£§õ� °ú >� �)a��.

{9�§4� + Òqt$í
 = Ø�¦§4� + »¡¤&h�

q11 + 0 = 0 + V ρW CpW (TW |t+∆t − TW |t) (6.97)

#�l�"f d�� (6.92)�Ð >�íß�÷&��H q11�Ér ½̈_� ü@ÂÒ ³ð���\�"f Ãº�̧�Ð_� \P����²ú� 5Åq�̧s���. ∆t\�¦

0Ü¼�Ð �Ð?/��H �FGô�Ç�̀¦ 2[
��¦ &ñ
o�
����, ��6£§õ� °ú �Ér ���õ�\�¦ %3���H��.

dTW

dt
=

q11

V ρW CpW
(6.98)

#�l�"f �íl��̧|	��Ér r�çß� t = 0\�"f TW = 20oCs���. ����"f Ãºu�K���H d�� (6.98)õ� �íl��̧

|	��̀¦ (b)\�"f ��6 x�)a ~½Ó&ñ
d�� Óü�6£§\� �8K�"f %3�#Q�����.
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V� 14 â�
 2	�xjS j�Ça�(�×(�×@� ¦�>�¿

14.1 5���� à�
ÃZ�

\P� SX�íß�>�Ãº�� {9�&ñ

��¦ �â
>����_� �:r�̧�� ·ú��9��� �â
Äº_� 2	�"é¶ q�&ñ
�©��©�I� \P� ����̧

14.2 ��£� ÛÖS ÊÁn�B�ß��

2	�"é¶ ¼#�p�ì�r ~½Ó&ñ
d���̀¦ Û�¦l� 0Aô�Ç u�&h� f�����ç�H ZO�_� 6£x6 x

14.3 %K�V� à�
ÃZ�

x, y~½Ó�¾ÓÜ¼�Ð_� q�&ñ
�©� �©�I� \P� ����̧��H ��6£§õ� °ú �Ér ¼#�p�ì�r ~½Ó&ñ
d��Ü¼�Ð l�Õüt�)a��.

∂T

∂t
= α

(
∂2T

∂x2
+

∂2T

∂y2

)
(6.99)

#�l�"f T��H �:r�̧(K), t��H r�çß�(s), α��H k/ρcp�Ð ÅÒ#Qt���H \P� SX�íß�>�Ãº(m2/s)s���. \P� ����̧

�̧ k (W/m), x9��̧ ρ (kg/m3), \P�6 x|¾Ó cp (J/kg)�Ér {9�&ñ

����¦ #��������. 5Åqs� ��� ��y��+þA

~½Ó_� îß�Aá¤ #4�s� 700K, ��¾ú Aá¤ #4��Ér 300K�Ð Ä»t��)a��. ÕªaË> 6.19\� �Ðs���H ��ü< °ú s� îß�Aá¤

#4��Ér 1m × 1m, ��¾ú Aá¤ #4��Ér 2m × 2ms���. s� ~½Ó_� @/g�AÂÒ\�¦ Ä»ô�Ç 	�ì�rZO�Ü¼�Ð ��ÀÒl� 0A

ô�Ç grid çß���� %i�r� ÕªaË> 6.19\� ������ e����. ÕªaË>\�"f ∆x = ∆y = 0.125ms���. ~½Ó_� éß����

�̀¦ ����?/l� 0AK�"f��H 8���s� 
¹כ��9�����H ��\	כ ÅÒ_�
���.

(a) &ñ
�©��©�I�\� �̧²ú�
�l���t�ÕªaË> 6.19\�"f�Ðs���H~½Ó_� �̧×¼&h�[þt\�"f�:r�̧\�¦���&ñ

�

l�0A
�#�d�� (6.99)\�¦Û�¦l�0Aô�ÇÃºu�&h�f�����ç�HZO��̀¦��6 x
���.�:r�̧ T1,2, T2,2, T3,2ü<

T4,2\�¦ r�çß�\� ���� �̧r�
���. ~½Ó #4�_� \P� SX�íß�>�Ãº��H α = 5× 10−5m2/s, \P� ����̧�̧

��H k = 1.2 W/ms��¦, #4�_� �íl� �:r�̧��H 300Ks���.

(b) &ñ
�©��©�I�\� �̧²ú�
�l���t� r�çß�_� �<ÊÃº�Ð ~½Ó ?/ÂÒ #4��̀¦ :�xô�Ç ~½Ó U�́s� éß�0A m{©� \P�5Åq

q\�¦ >�íß�
��¦ �̧r�
���.

(c) (a)ü< (b)_� >�íß�\�"f &ñ
x9��̧\�¦ Z�}{9�Ãº e����H ~½ÓZO�\� @/
�#� �7H_�
���.

ÊÁn��\� ÒÏ�¤n>!B�ß��

ë�H]j 3.9, 6.12 x9� 6.13\�"f f�����ç�HZO��̀¦ s�6 x
�#� \P����²ú�s� �'a#�
���H 1	�"é¶ ¼#�p�ì�r ~½Ó&ñ


d��_� K�ZO�\� @/
�#� �7H_�
�%i���. s� ë�H]j\�"f��H r�çß�\� @/ô�Ç ¼#��̧�<ÊÃº��H r�çß�_� �̧�<ÊÃº
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2m

700K

300K

2m

0.5m

1,0         2,0      3,0       4,0         5,0

1,1         2,1      3,1       4,1         5,1

1,2         2,2      3,2       4,2         5,2

1,3         2,3      3,3       4,3         5,3

1,4         2,4      3,4       4,4         5,4

1,5         2,5      3,5       4,5         5,5

1,6         2,6      3,6       4,6         5,6

              2,7      3,7       4,7         5,7

                         3,8       4,8         5,8

                                     4,9         5,9

700K

300K

ÕªaË> 6.19: 5Åqs� ��� &ñ
~½Ó+þA ~½Ó\� @/ô�Ç grid Ä»+þA.

�Ð @/�̂÷&�¦, ¿º /BNçß� �̧�<ÊÃº[þt�Ér Ä»ô�Ç	�ì�r ��H��\� _�
�#� æ¼#������. ÕªaË> 6.19\�"f �Ð

#�t���H grid çß����\�"f ?/ÂÒ node\� @/
�#� ×�æ�©�	�ì�rd��[ÂÒ2�¤A_� d�� (A-3)]�̀¦ ��6 x
�#� d��

(6.99)��H ��6£§õ� °ú s� ��r� jþt Ãº e����.

dTn,m

dt
= α

[
(Tn+1,m − 2Tn,m + Tn−1,m)

(∆x)2
+

(Tn,m+1 − 2Tn,m + Tn,m−1)
(∆y)2

]
(6.100)

#�l�"f n�Ér x~½Ó�¾ÓÜ¼�Ð_� �̧×¼, m�Ér y~½Ó�¾Ó_� �̧×¼\�¦ �����·p�� (Geankoplis [1] �ÃÐ�̧).

s� ë�H]j_� @/g�A$í
 M:ë�H\�, ��6£§õ� °ú �Ér �:r�̧ �'a>���H r�çß�\� �©��'a\O�s� �½Ó�©� $í
wn�
��¦,

T1,6 = T2,5 T2,7 = T3,6 T3,7 = T4,7 (6.101)

T2,2 = T2,0 T3,2 = T3,0 T4,2 = T4,0

d�� (6.100)\�"f ÅÒ¹כ grid �â
>�?/_� &h�[þt\� ô�Ç
�#� >�íß��̀¦ 
���HX< ��6 x|̈c Ãº e����.

14.4 (ÉÙ&P�) B�

(a) �â
>��̧|	� x9� d�� (6.101)\� _�
�#� ÅÒ#Qt���H @/g�A�'a>�\�¦ s�6 x
���� ?/ÂÒ �̧×¼\� @/ô�Ç

~½Ó&ñ
d���Ér 21>h_� ���wn� �©�p�ì�r ~½Ó&ñ
d��s� �)a��. s� ë�H]j\�¦ Û�¦l�0Aô�Ç MATLAB Û¼ß¼wn�àÔ��H

��6£§õ� °ú s� ÅÒ#Q�����.

p614a.m
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clear all
t0=0;
tf=3000;
alpha=5e-5;
dx=0.25;
dy=0.25;
T210=300;
T310=300;
T410=300;
T220=300;
T320=300;
T420=300;
T230=300;
T330=300;
T430=300;
T240=300;
T340=300;
T440=300;
T250=300;
T350=300;
T450=300;
T260=300;
T360=300;
T460=300;
T370=300;
T470=300;
T480=300;
[t,T]=ode45(’p614f’,[t0 tf],[T210 T310 T410 T220 T320 T420 T230 T330 T430 T240 ...
T340 T440 T250 T350 T450 T260 T360 T460 T370 T470 T480]);
T22=T(:,4);
T32=T(:,5);
T43=T(:,9);
plot(t,T22,t,T32,’--’,t,T43,’-.’);
xlabel(’t’); ylabel(’T’);
axis([0 3000 300 700]);

p614f.m

function dTdt=p614f(t,T)
dTdt=zeros(21,1);
alpha=5e-5;
dx=0.25;
dy=0.25;
T21=T(1);
T31=T(2);
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T41=T(3);
T22=T(4);
T32=T(5);
T42=T(6);
T23=T(7);
T33=T(8);
T43=T(9);
T24=T(10);
T34=T(11);
T44=T(12);
T25=T(13);
T35=T(14);
T45=T(15);
T26=T(16);
T36=T(17);
T46=T(18);
T37=T(19);
T47=T(20);
T48=T(21);
dTdt(1)=alpha*((T31-2*T21+700)/dx^2+(T22-2*T21+T22)/dy^2);
dTdt(2)=alpha*((T41-2*T31+T21)/dx^2+(T32-2*T31+T32)/dy^2);
dTdt(3)=alpha*((300-2*T41+T31)/dx^2+(T42-2*T41+T42)/dy^2);
dTdt(4)=alpha*((T32-2*T22+700)/dx^2+(T23-2*T22+T21)/dy^2);
dTdt(5)=alpha*((T42-2*T32+T22)/dx^2+(T33-2*T32+T31)/dy^2);
dTdt(6)=alpha*((300-2*T42+T32)/dx^2+(T43-2*T42+T41)/dy^2);
dTdt(7)=alpha*((T33-2*T23+700)/dx^2+(T24-2*T23+T22)/dy^2);
dTdt(8)=alpha*((T43-2*T33+T23)/dx^2+(T34-2*T33+T32)/dy^2);
dTdt(9)=alpha*((300-2*T43+T33)/dx^2+(T44-2*T43+T42)/dy^2);
dTdt(10)=alpha*((T34-2*T24+700)/dx^2+(T25-2*T24+T23)/dy^2);
dTdt(11)=alpha*((T44-2*T34+T24)/dx^2+(T35-2*T34+T33)/dy^2);
dTdt(12)=alpha*((300-2*T44+T34)/dx^2+(T45-2*T44+T43)/dy^2);
dTdt(13)=alpha*((T35-2*T25+700)/dx^2+(T26-2*T25+T24)/dy^2);
dTdt(14)=alpha*((T45-2*T35+T25)/dx^2+(T36-2*T35+T34)/dy^2);
dTdt(15)=alpha*((300-2*T45+T35)/dx^2+(T46-2*T45+T44)/dy^2);
dTdt(16)=alpha*((T36-2*T26+T25)/dx^2+(T36-2*T26+T25)/dy^2);
dTdt(17)=alpha*((T46-2*T36+T26)/dx^2+(T37-2*T36+T35)/dy^2);
dTdt(18)=alpha*((300-2*T46+T36)/dx^2+(T47-2*T46+T45)/dy^2);
dTdt(19)=alpha*((T47-2*T37+T36)/dx^2+(T47-2*T37+T36)/dy^2);
dTdt(20)=alpha*((300-2*T47+T37)/dx^2+(T48-2*T47+T46)/dy^2);
dTdt(21)=alpha*((300-2*T48+T47)/dx^2+(300-2*T48+T47)/dy^2);



54 ]j 6 �©� \P����²ú�

(b) {9�éß� �:r�̧ ì�r�í�� >�íß�÷&���, ~½Ó_� îß�Aá¤ #4�\�"f_� 8úx \P� �<Hz�́�Ér #��Q �̧×¼\�"f ²DGt�

�:r�̧ ½̈C�\� _�ô�Ç \P�5Åq�̀¦ ½+Ë
�#� %3��̀¦ Ãº e����. ��6£§õ� °ú s� ÅÒ#Qt���H Fourier ZO�gË:s�

qx = −kA
dT

dx

∣∣∣∣
x= inner surface

(6.102)

&h�]X�ô�Ç���&h� Aü<ë�H]j_�����̂&h����@/g�A$í
�̀¦�¦�9
�#�&h�6 x�)a��.d�� (6.102)\�"f �̧�<ÊÃº��H

x ~½Ó�¾Ó\� @/
�#� Õª {9�ìøÍ&h���� ³ð�&³s� ��6£§õ� °ú s� ÅÒ#Qt���H 2	� ���~½Ó Ä»ô�Ç	�ì�rZO��̀¦ ��6 x


�#� ½̈K������ [ÂÒ2�¤ A_� d�� (A.5) �ÃÐ�̧].

dTn

dx
=
−3Tn + 4Tn+1 − Tn+2

2∆x
(6.103)

����"f, ?/ÂÒ ���\� @/
�#� (�ª�_� x ~½Ó�¾ÓÜ¼�Ð) ?/ÂÒ #4�����̀¦ :�xô�Ç 8úx \P�5Åq�Ér ��6£§õ� °ú s� ÅÒ

#Q�����.

q = −8k∆x

[(
1
2

)
dT1,5

δx
+

dT1,4

δx
+

dT1,3

δx
+

dT1,2

δx
+

(
1
2

)
dT1,1

δx

]
(6.104)

#�l�"f����� 8�Ér@/g�A���s� 8>hs�Ù¼�Ð�9¹כ�
��¦, (1/2)��H&h�½+Ëô�Ç���&h�M:ë�H\��9¹כ�
���. x\�

@/ô�Ç �̧�<ÊÃº��� d�� (6.103)õ� �<Êa�, s� d���Ér e��_�_� r�çß�\�"f 8úx \P�5Åq�̀¦ ÆÒíß�
���HX< ��6 x|̈c

Ãº e����.

(a)\� @/ô�Ç MATLAB\�"f K�\�¦ ½̈
�l� 0Aô�Ç Û¼ß¼wn�àÔ\� ÂÒ��
�#� ��6£§õ� °ú �Ér Û¼ß¼wn�

àÔ[þts� ÆÒ���)a��.

dT11dx=(-T31+4*T21-3*700)/(2*deltax);
dT12dx=(-T32+4*T22-3*700)/(2*deltax);
dT13dx=(-T33+4*T23-3*700)/(2*deltax);
dT14dx=(-T34+4*T24-3*700)/(2*deltax);
dT15dx=(-T35+4*T25-3*700)/(2*deltax);
q=-8*1.2*(1/2*dT15dx+dT14dx+dT13dx+dT12dx+1/2*dT11dx);

(a)Ìò (b)<JN�~×� MATLAB©�­�=��®��כ�ûY"e� CHAP6���Ý�~²��Ìø p614a.m, p614b.m,

p614f.mª�v² � �b$\ AUe��.
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